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Preface

Although Charles Babbage laid down several ideas for computing "en
gines," the forerunners of today's computers were largely developed in the
early 40's as part of the war effort. The Robinson series cryptoanalytic ma
chines developed in England in 1941 spawned many families of computers
still in use today. The MIT differential analyzer and real-time aircraft simula
tion project led to the Whirlwind, and eventually to the immensely successful
DEC family of PDP computers (Programmed Data Processors). And, of
course, Eniac built at the University of Pennsylvania, was the guiding light
behind Univac, IBM and many other successful manufacturers.

Many people today poke fun at these early machines and regard them as
dinosaur-like relics. However, it is interesting to consider that a large-scale
computer of about 25 to 30 years ago had about the same amount of power as
a typical personal computer of today. It was generally not as reliable or user-
friendly as a personal computer, and, of course, cost tens of thousands times
as much. Why bring this up?

Because a computer of the 50's required that the programmer be very
clever and resourceful to solve problems within the capabilities of the com
puter. He did not have vast gobs of memory available, blinding quick calcula
tion speed, or random disk access. In other words, he had about the same
problem to face as you do with your personal computer.

I do not mean to imply that your personal computer is not a full-fledged
computer. It certainly is just as much a computer as a room-filling giant of to
day. However, because of the relatively small memory, it cannot store a large
data base. Nor is it suitable for extensive word processing or massive calcula
tions. Highly detailed graphics are best left to other machines as well.

What can we learn from the computing pioneers of the 50's that will help
us today? Perhaps most important is the discipline of thoroughly analyzing a
problem, breaking it down into manageable steps, and solving it a step at a
time. It is also important to determine what can be done "off line" and what
must be done on the computer.
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That is what this book is all about. While it has more than 50 ready-to-run
programs, the main thing you should look for from the book is an approach
to solving problems—big and small. Some of the problems demonstrate the
capability of the computer; others identify its shortcomings. It is important to
be famihar with both the strengths and weaknesses of your tools so you can
recognize the types of jobs for which they are suitable (and not suitable).

This book focuses primarily on mathematical and educational applications
for the computer. There are many other excellent sources of information
about other applications and for making best use of your personal computer.
Using the approaches described in this book should enable you to easily con
vert programs and use applications from other books and magazines such as
Creative Computing.

This book is designed to be read with a working computer at hand. While
there is textual material to be read, the most important things are the experi
ments and problems to be tried with your own computer. The book raises
many questions for which you should try to find answers. There are no an
swers to these questions and problems in the back of the book; you should be
able to discover the answers as you work the problems out on your computer.

You will be able to incorporate many of the routines and approaches in the
book into programs of your own as you use your computer to deal with "real
world" problems. Other programs will simply point you in the right direc
tion. And some of the programs in the book are just plain fun. Learn. Experi
ment. Have fun!

Morristown, New Jersey
March 1983 David H. Ahl
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Drill and Practice

Throughout life, there are certain things that simply must be memorized.
Obvious things that fall into this category are the addition and multiplication
tables, the spelling and meaning of words, how to tell time, and the monetary
system.

However, depending upon one's chosen profession, there are many other
things to be memorized. A doctor must know what diseases match what
symptoms. A chemist must know the gas laws, the properties of elements and
so on. A pilot must instantaneously know the meaning of readings on scores
of instruments.

To memorize a set of facts, you must go over them again and again and
keep trying different variations. Here is where the computer comes in. It is
able to present randomly scores of different problems to you for as long as
you wish. Some programs will automatically adjust to your level of com
petence and will grade you; other programs simply present the problems and
leave the grading up to you.

There are four programs in this chapter and two in the Science chapter
which present material in a drill and practice format. Examine the methods
used in these programs and then make up some drill programs of your own
for subjects with which you are having trouble, or make up programs for
other members of your family.
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Addition Practice

This program demonstratesa simplified addition drill and practice routine.
This type of drill is sometimes called computerassisted instruction(CAI), al
though CAI can also apply to tutorial and other approaches as well.

When the program is run, it will first ask "No. of digits?" You enter a
number and each addend will contain that many or fewer digits.

The program will present any number of practice problems that you spec
ify. The program presents each problem in turn. The program will not pro
ceed to the next problem until the current one has been answered correctly.
After the last problem is answered correctly, the score is printed with an
appropriate comment.

There are many improvements and extensions possible in a program like
this one. For example, you might want to modify the program so it tells the
user the correct answerafter a problem has been answered incorrectlytwo (or
three) times.

A more complicated modification would be to change the program to
present different kinds of arithmetic problems such as subtraction, multiplica
tion, and division.

Some of these modifications have been made in the next program.

RANDOMIZE
PRINT "ADDITION PRfiCTICE

it

ND. DF DIGITS =":N
NQ. DF PRDBLEMS ="



190 IF Q>1 THEN 210
200 W=W+1
210 PRINT "WHAT? TRY AGAIN"
220 GOTO 100
230 PRINT "RIGHT!"?
240 IF K> = P THEN 270
250 PRINT "HERE IS flNDTHER D
NE "
260 GDTD 60
270 PRINT ii«YDU GOT"*P-WI " C
DRRECT THE":"FIRST TIME."
28 0 PRINT
290 IF U<.22*P THEN 320
300 PRINT "BUT YDU MISSED";U
3 10 S T D P
320 PRINT "GDDD WORK!"
33 0 STDP

> R U N
ADDITION PRACTICE

NO. OF DI6IT8-3 _
NO. DF PROBLEMS =5

731
_+ 761

RIGHTfHERE IS flNDTHER DNE.
3S7

+ 2©

RIGHTtHERE IS flNDTHER DNE.
133

+ 4 08

RIGHT?HERE IS flNDTHER DNE.
933

+ 987

? 1810
WHRT? TRY R G RIN

93 3
+ 98 7

RIGHTiHERE IS ANOTHER DNE.

229
+ 103

? 3 3 2
RIGHT!

YOU GOT 4 CORRECT THE
FIRST TIME.

GOOD WORK!



Addition Practice,

Adjusted by Grade Level

One of the major disadvantages with many drill and practice exercises is
that they tend to be either boring or frustrating, depending upon the ability of
the user relative to the level of the material. To compensate for this, a method
is needed which will adjust the difficulty of the problems to the ability of the
user.

Ideally, such a system would weigh the most recent performance most
heavily but would not ignore previous performance. It should allow a user to
advance to more difficult problems than his current mastery level. It should
also continue to give some practice on problems already mastered.

Some commercial software packages approach these goals along traditional
lines, i.e., determine in which type of problems a student should receive prac
tice by using a complicated computer managed instruction score recording
and adjustment system.

The approach here is more innovative; it uses a single measure for each
type of problem—call it "estimated grade level"—which meets all of the
objectives stated above.

How does it work? The most recent problem presented counts 10% of the
overall score if it was answered correctly and was over the current user grade
level, or if it was answered incorrectly and was under the current user grade
level. Otherwise it is ignored. This may be easier to visualize in the form of a
chart:

Answer

Right Wrong

Problem

Higher than Raise student Ignore
grade level grade level

Lower than Ignore Lower student
grade level grade level

At first glance this might look complex and somewhat goofy, however,
what it really means is that a student is rewarded for doing a problem beyond
his grade level but he is not penalized if he cannot do it. On the other hand he
is penalized if he cannot do a problem lower than his grade level, but is not
rewarded for doing one lower.

Each problem affects the estimated grade level a little bit, with the most
recent problems being weighed the most heavily. If the current grade level of
a student is L and the level of the most recent problem to be averaged in is P,



then the averaging formula is simply:
L = .9L + .IP

The remaining task before a program can be written is to assign a grade
level to each problem presented. Unfortunately, this will vary depending
upon the local school system, the textbook used, and the teaching method.
Also a huge data base can not be stored ina small computer, so it isdesirable
to devise a simple method of determining grade level for different problems.
One straightforward approach is to present problems up to one-half a grade
level over and under where the student currently is. Thus the overall range of
problems for a student at grade level 3.2 would be 2.7 to 3.7.

How do we generate the right problems? Consider one type ofskill, vertical
addition. It is normally introduced in the first grade and continues through
Grade4 (actually 4.9). Thesimplest problem in thisprogram is 1 + 1and the
most difficult is 999 + 999. Since learning is not a linear process (it is slow at
first, and then progresses rapidly), an exponential formula can be used. For
example:

Addend = 1.73 x (Grade level)4
or

Grade level = V Addend/1.73

This means that students at various grade levels will be working with the
following maximum addends:

Grade level Addend
1.0 1
2.0 27
3.0 140
4.0 442
4.9 997

Now it is a relatively straightforward, although somewhat tedious, matter
to tie all these elements together in a computer program.

A few notes about the program. The variable G2is the problem grade level
that isalways within one-half ofa grade level ofthe current student level, Gl.
The complicated mess in Statement 340 produces a moving grade level
average.

Therecording of the grade level and carrying it over to the next lesson isa
manual process. On a computer system with a permanent mass storage de
vice, this would be kept on the system.

There are many possible changes and extensions to this program. For
example it could present different types ofproblems such as horizontal addi
tion, vertical and horizontal subtraction, as well as multiplication, division
and fraction problems.
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10 RANDOMIZE
2 0 W = 0
3 0 PRINT "HI
9 9 9 9 AS"

40 PRINT "YOUR

sEe5I£WT "uh*t
6 0 INPUT Gl
70 G2=G1-.5*RND
WO R-JNT<2+1.73*G2*-4>
yp A=INT<100*G2*RNID
J9R lFrfi^R THEN 90110 B = R-A

TO STOP,

ANSWER.
IS YDUR

INPUT

GRADE

115 PRINT
12 0 PRINTS « g

13 0 PRINT
R«<A> >> ;A
140 PRINT

R = A + B
PRINT

150
160
> J
170
200
210
220
230
240
250
260

TABC8-LENCSTR$<B>>

" + ";TflB<8-l_ElsKST

TRB<7-LEN<STR8<R>>

»00
INPUT G
IF G = 9 9 9 9 THEN
IF U=R THEN 3 10
U = W + 1
IF W>1 THEN 2 6 0
PRINT "WRONG, TRY
GOTO 1 15

n^- PRINT ''YOU MISSED
NE TWICE."
270 PRINT "THE
R I S " ? R
28 0 I.J = 0

138 gStd-2I1o then 400
3 10 li)s 0
320 PRINT "CDRRECT!"
a3Q IF G2<61 THEN 400
3 4 0 , G 1= .9 * G 1+ . 1* S Q R <S 6 R c; R•2 /
1 . 7 3 > ,'•
400 PRINT
410 PRINT "HERE IS ANOTHER..

420 GOTO 70
5 0 0 PRINT
•-•lO^PRINT "OKAY. SO LONG FOR
5S2 gl = <INT< 100*G1 >'^lOO
SIP ?!!5NJ, "YauR NEW GRADE LE
999 END

AGAIN"

THAT 0

CORRECT ANSUE



HI. TD STOP, INPUT 99 9 9 RS
Y D U R R N S W E R .
WHRT IS YDUR GRADE LEVEL? 3

5
+ 87

? 92
CDRRECT!

HERE IS ANOTHER.

58
+ 67

? 114~
WRONG* TRY AGAIN

58
+ 67
~~? "l25~

CORRECT!

HERE IS flNDTHER.

4
+ 104

? 10 8
CDRRECT!

HERE IS flNDTHER.

28
+ 50

? 99 9 9

OKAY
YDUR

SD
N E W

LONG FOR NDW.
GRADE LEVEL IS 3

* * D D N E * *



Time/Speed/Distance Problems

As well as being able to present simple numerical drill and practice prob
lems, the computer can present word problems for solution as well.

In this program the formula relating time, speed and distance was applied
to a problem involving both a car and train.

The problem can be stated as follows. A car traveling C miles per hour
(computer generates an integer 40 through 65) can make a certain trip in D
hours (computer generates an integer 5 through 20) less than a train traveling
at T mph (computer generates an integer 20 through 39). How long does the
trip take by car? When the two simultaneous equations are solved they pro
duce the single equation for the answer shown in Line 110.

Notice the calculation in Line 120. This calculates the percent difference
between the actual answer and the one enteredby the user.

Notice also that the computer calculates the correct answer in Line 110and
prints it (on the screen) in Line 200. This answer may have many decimal
places; asthe program is written it is rounded off to two decimal places. If the
0.5 was not added in Line 110, the number would be truncated and not
rounded off. This is an important calculation and one which you will find in
many other programs throughout the book.

Consider other problems that can be used as the basis for this kind of drill
and practice exercise. Teachers, for example, might wish to have students
write drill and practice programs on their own. Different problems could be
given to one or a small group of students to serve as the basis for a program.

After the programs are written, students can try out the programs of other
class members. This approach ensures that each student not only understands
the type of problem assigned to him, but also gets practice in solving other
problem typesaswell. This is aneffective technique for stimulating interest as
well as for learning how to solve word problems.

9 *^~ <r~ xsa^jwfc \L
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DOMI
INK
int-.-:
INK
INT
CRN

INT
? If
INT
it

INT

INT
Tf\K£
INT
NPUT
= INT

ZE
P. N D * 2 5 > + 4 0
R N D * 1 5 > + 5
R N D * 1 9 > + 2 0
"R CAR TRRVELING" 5 C
ii

" M R K E R CERTAIN T R I

"HOURS LESS THRN R

"TRRVELING RT";Ts" M

;;hdw long does the

"BY C R R"s

(. . 5 + 1 00* < D*Ty (. C-T ::o

5 R R N
10 C =
2 0 D =
3 0 T =
40 PR
5 »' M P H
5 0 PR
P IN"
6 0 P R
TRRIN
7 0 PR
PH. "
80 PR
TRIP
9 0 PR
100 I
1 10 V
> s i 0 0
1 20 E
5>
130 I
140 P
WAS"

150 P
T. "
16 0 e
170 P
FP BY
180 P
190 P
R IS"
200 P
210 P
220 P

= I N T < R B S < < V - R ) * 1 0 0 / R :> +

F E>
RINT

5 THEN 170
"GOOD. YOUR ANSWER

RINT "WIT HIN";E; "PERCEN

QTD
RINT

190
"SORRY, YOU UERE 0

INT
INT

RINT
RINT
RINT

E? "PERCENT. "
"THE CDRRECT RNSWE

V5 "HOURS. "

"HERE IS ANOTHER. .

102 3 0
999

GOTO
END

•RU
R
MR
HO
TR
HO
BY
GO
WI
TH

N
CAR
KE
URS
AVE
U L
Cfl

OD.
THI
E C
4- ?

TRAVELING 41 MPH CAN
R CERTAIN TRIP IN 6
LESS THRN R TRAIN

LING AT 33 MPH.
ONG DOES THE TRIP TRKE
R? 25
YOUR ANSWER WAS

N 1 PERCENT.
ORRECT ANSWER IS
5 HOURS.
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Kinematics Problems

Kinematics relates to the dynamics of motion of bodies apart from consid
erations of mass and force. Like many other types of problems, these can be
generated and presented by the computer to provide practice in solving them.

This program presents a simple kinematics problem for solution. The com
puter generates a new value for each problem. The problem is as follows. A
ball (or any other object) is thrown up at velocity V meters per second (com
puter generates an integer between 5 and 40). The user must then calculate
three factors about the resulting flight of the ball: maximum height, time until
it returns, and velocity after T seconds (computer generates a time less than
the total flight time).

The key benefit in using a computer to present problems of this type is
motivation. The calculations required of the user are no different than those
in the back of a chapter in a book or those on homework assignments. How
ever, answering them when they are presented by the computer seems to
make it more of a challenge and, frankly, more fun.

The computer program checks each of your responses to see if it is within
15% of the correct answer. If it is, your answer is considered correct. You
may wish to change this percentage to require more or less accurate calcula
tions. You may also wish to change the computer calculations to round off to
one or two decimal places.

"N

tvU

iy^,V^

r

12
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<35*RND>
R BRLL IS THROWN U

fl T " 5 V? "M E T E R S PER

HOW HIGH WILL IT S

METERS)"5
00

"HOW LONG UNTIL IT

CQKDS)";

RNDOMI
= 0
» 6 + I H T
RINT "
DS "
RINT "
ND. "
=.05*V
RINT "
N"
RINT "
0 S U B 5
fl = V/ 5
PRINT
URNS"
PRINT
GOSUB
T=2+IN
IF T>R
fi = V - 1 0
PRINT
Y E E "
PRINT

0 R
0 Q
0 V
0 P
10 RR
0 P
eco
0 R

°<1
0 P
0 G
00
10
RET
2 0
3 0
4 0
45
50
60
CIT
70

N D > ' 1 0
4 0

" < I N S E
5 00
T<2*S'*R
THEM 1

"WHAT U ILL ITS V E L

"AFTER";T?"SECONDS

ISO 6DSUB 50 0
190 PR INT
2 0 0 PRINT Q 5 " RIGHT OUT OF 3

210
220
230
500
510

IF Q<2 THEN 230
PRINT " NOT BRD!"
STOP
INPUT 6
IF fl B S <C < G - A > •" A >< . 1 5 THEN

5 2 0 P R I N T "NOT EVEN CLOSE...
ip

530
540
550
560
"; R
570
580
99 9

GOTO 560
PRINT "CLOSE ENOUGH."

PRINT "CDRRECT ANSWER IS

PRINT
RETURN
END

fl BRLL IS THROWN
RT 12 METERS PER
HOW HIGH WILL IT
METERS)? 8
CLOSE ENOUGH.
CORRECT ANSWER IS

U P U R R D S
SECOND.
SO CI N

7.

HOW LONG UNTIL IT RETURNS
c:iN SECONDS)? 2.5
CLDSE ENOUGH.
CORRECT ANSWER IS 2 4

WHRT WILL ITS VELOCITY
AFTER 2.4 SECDNDS? -12
CLDSE ENDUGH.
CDRRECT ANSWER IS-12

RIGHT DUT
NOT BAD!

OF 3.

13
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"This nano-computer isgreat, but working the keyboard isa real problem!'
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2
Problem Solving

In many courses in school, the textbooks present a great variety of devices
for solving the problems that have been neatly grouped together at the end of
each chapter. Typically these devices consist of formulae, equations, rules and
theorems. After a careful study of these devices, teachers give exams which
test your ability to recall them.

But what do you do if you are faced with the more realistic situation of not
being told what device is likely to solve which problem or, worse yet, of hav
ing forgotten how to use a technique altogether? Is all hope lost? Of course
not, although some people seem to believe that it is.

In this chapter, several of these nasty devices mentioned above are pre
sented. For example, there are devices written into computer programs that
will solve a quadratic or exponential equation and others that will calculate
the roots and draw a plot of any function.

However, you must remember that while these devices are useful in solving
certain problems, the really important thing is to understand the underlying
logic and approach. Then when it comes time to solve real world problems
you will be better prepared to face them. Incidentally, many of the methods
and devices presented in this chapter are used in later chapters to solve other
kinds of problems.

15



How Many Tickets?

Here is a problem. At a school raffle to raise money, the organizers have as
a prize an electronic game for which they paid $18.00. To add interest to the
raffle, the organizers have decided to sell tickets for an amount (in cents)
equal to the number on the ticket for tickets numbered 1 to 50. For ticket
numbers over 50, the price is 25 cents each. The organizers want to know
how many tickets they must sell to exactly break even.

It is probably easiest to visualize a problem of this sort with a flowchart. In
the flowchart, T will equal the total money collected and will increase as
more tickets are sold. The ticket number is N. When T equals or exceeds
$18.00, N will be the answer.

Note that the flowchart has two logical branching points (if statements in
the program). The first compares the current ticket number to 50; if it is less,
the ticket number is added to the total whereas if it is greater than 50, the
total is increased by 25 cents.

Ses

T*T*tf

Nes

PRiMr

NJ,T

(stop J

T-T+T.S

N£XT N

16



The second branch point compares the total amount collected, T, to $18.00
(actually 1800 cents). If T is equal to or greater than 1800, the break even
point has been reached and the values of N and T are printed (on the screen).

A problem of this kind can be done by hand, however, because of the repet
itive additions it is quite tedious. Also, doing it by hand frequently leads to an
answer of 72 rather than the correct answer of 71. Try it yourself and see
what you get.

AS T = 0
20 FDR N = t TO 2000
30 IF N<;50 THEN 60
40 T=T+25

18 fETV
18 JixT-»,0° THEH 50
90 PRINT N?"TICKETS SOLD TOP
100 PRINT "COLLECT SM?T^100
9 9 9 END

>
>
> R U H

71 TICKETS SOLD TD
COLLECT S 18

* * DONE * *

Many problems can be solved quickly and correctly with a computer using
logical analysis and a flowchart. More complex problems may have to be bro
ken down into additional steps and require a longer flowchart, but the ap
proach is fundamentally the same.

Here are two problems for you to solve.
The diameter of a long-playing record is 12 inches. The unused center has a

diameter of 4 inches and there is a smooth outer edge 1/1 inch wide around
the recording. If there are 91 grooves to the inch, how far does the needle
move during the actual playing of the recording?

A movie theater charges $2.50 for an adult admission and $1.00 for a child.
At closing, the cashier counted 385 ticket stubs and had $626.50 in cash.
How many children entered?

17



Drinking and High Blood Pressure

This program illustrates how several simple equations can be put in a com
puter program to solve a more difficult overall problem.

Here is the problem. In a survey of 1000 adults, it was found that 35 had
high blood pressure. Of those with high blood pressure, 80% drink 15 oz. or
more of alcohol per week. Of those without high blood pressure, 60% drink a
similar amount. What percent of drinkers and non-drinkers have high blood
pressure?

This problem requires the solution of several simple equations. They could
all be combined into one large equation, but it may be easier to understand
the approach (and change variables later on) by writing a program with five
separate equations.

If H equals the number of people with high blood pressure, then H = 35
(Line 10). Letting HI equal the number of people with high blood pressure
who drink leads to HI = .8 x H (Line 20).

Letting LI equal the number of people with low blood pressure who drink
yields LI = .6 x (1000 - H). Then, the total number of drinkers, D = HI +
LI.

Finally, the percentage of drinkers with high blood pressure is X = HI x
100/D.

The program solves the problem in a jiffy. The solution for this type of
problem can be easily written directly in Basic without any need for a flow
chart or detailed analysis. Recognizing this type of problem readily will save
a great deal of pencil pushing time.

10 H = 3 5
2 0 H1 *. 3 * H
30 LI*. 6*< 1000-H>
40 D=H1+L1
50 X=INT< i0*<H*i00.'D> )/10
60 B=H*100/1000
70 PRINT TflB<8>5"PEOPLE WITH
HIGH"

30 PRINT TRB<9;> ? " BLOOD PRESS

90 PRINT "DRINKERS H!X!"

100 PRINT "ALL PEOPLE »5B
.999 END

>RUN
PEOPLE WITH HIGH
BLDOD PRESSURE

DRINKERS 5.7*
ALL PEOPLE 3.5

* * DOME * *

18



Here is a problem that doesn't require a single equation but makes use of
the approaches discussed so far in this chapter. Can you solve it with three
Basic statements?

In early January, a shopkeeper marked down some calendars from $2.00 to
a lower price. He sold his entire stock in one day for $603.77. How many did
he have?

Here's another easy one. A town in India has a population of 20,000 peo
ple. Five percent of them are one-legged and half of the others go barefoot.
How many sandals are worn in the town?

19



Two Simultaneous Equations

So far in this chapter, only problems with linear equations have been
considered. But the computer can be used to solve much more difficult equa
tions. In fact, it is in problems involving second and third degree equations,
exponentials, and the like where the computer really starts to pay off. Con
sider the following two simultaneous equations:

2x = 16y 3X = 27y

It is not at all easy to solve these two equationsby hand. But a simple Basic
program can be written to solve the equations using trial and error. This is
sometimes referred to as a brute force approach because every possible
combination of numbers between an upper and lower limit is tried until a
solution is reached or until the program runs out of values.

10 FOR X = 1 TO 10 0
2 0 FOR V = i T D 100
3 0 IF 2 -> X016*V/3 THEN 70
40 IF 3AX<>27*Y THEN 70
45 PRINT "FINALLY SOLVED IT.

ii

5 0 PRINT " X ="? X, " Y= " ? Y
60 STOP
7 0 NEXT Y
SO NEXT v'
90 PRINTn,,N0 INTEGER SOLUTIO
NH
10 0 PRINT " B E T W E E N 1 AND 100

IB

9 9 9 END

>RUN
F INflLLY SOLVED IT. . .
X= 4 Y= 3

* * DONE * *

In this particular case, a solution is reached rather quickly with x = 4 and
y = 3. However, if in the second equation the y coefficient is changed slightly
from 27 to 28, the computer will try 10,000 possible solutions before finally
concluding that no integer solution exists—at least within the range of 0 to
100. Warning: this will run for a very long time.
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>40 IF 3AX<>28*Y THEN 70

>RUM
NO INTEGER SOLUTION
BETWEEN 1 AND 100.

* * DONE * *

Although the trial and error (brute force) approach is widely used, it is
highly inefficient. In general, a systematic or guided trial and error approach
is preferable to one that simply tries every possible solution. However, for
some problems the simple "try every value" approach may be appropriate. (A
comprehensive discussion of trial and error approaches can be found on pp
36-40 of Computers in Mathematics: A Sourcebook of Ideas.)

Three problem solving approaches have been discussed so far. Remember
ing them, how would you do this problem? A boy and his sister visited a farm
where they saw a pen filled with pigs and chickens. When they returned
home, the boy observed that there were 18 animals in all, and his sister re
ported that she had counted a total of 50 legs. How many pigs were there in
the pen?

r—

n •%f J—

& ¥
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Quadratic Equation Solver

For any values A, B, and C of a first degree quadratic equation (Ax2 + Bx
+ C = 0), this program will compute the roots of the equation. The solution
is based on the quadratic theorem which solves for roots with the following
formula:

X =
-B+y/B2^AC

2A

Assuming that A, B, and C are real numbers, the following principles
apply:

1. If B2 - 4AC is positive, then the roots are real and unequal.
2. If B2 - 4AC equals 0, then the roots are real and equal.
3. If B2 - 4AC is negative, then the roots are imaginary and unequal.
The program takes into account all these possibilities and correctly identi

fies the type of roots along with their values for any set of coefficients.
Is this program useful by itself? Except for solving quadratic equations for

algebra class, probably not. However, as a routine in a larger program to
solve quadratic equations that might be encountered, it could be very useful.

10 PRINT "QUADRATIC EQUATION
SOLVERM

SP 5RINT "PLEASE ENTER THE F
OLLDWINGs"
30 INPUT "VALUE DF fl = •• : fl
4 0 INPUT "VALUE DF B = " : B
5 0 INPUT "VALUE DF C =" s C
6 0 PRINT

^uu 5 r uk

?93 P R INI " IMAGINARY"
^10 PRINT < - B *' 2 * A > 5 " + " 5

999 END

S Q R c; -
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QUADRATIC EQUATION SDLVER
PLEASE ENTER THE FOLLOWING
VALUE OF A=l
VALUE OF B=2
VALUE OF C-l

THE
-1

ROOTS ARE

* * DONE **

> R U N
QUADRATIC EQUATION SOLVER.
PLEASE ENTER THE FOLLOWING;
VALUE OF A=0
VALUE OF B = 2
VALUE OF C=4

THAT IS A FIRST
DEGREE EQUATION

** HONE **

''QUADRATIC EQUATION SOLVER
PLEASE ENTER THE FOLLOWING
VALUE OF A=2
VALUE OF B=5
VALUE OF C-2

THE ROOTS ARE

:|
* * DONE * *

> R U N
QUADRATIC EQI
PLEASE ENTER
VALUE OF ft = 4
VALUE OF B=2
VALUE OF C = 4

THE ROOTS ARE IMAGINARY
-4 + 15.4919 33 38 *I
-4 - 15.4919333 8 * I

* * DONE * *

JATION SOLVER
THE FOLLOWING!
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Exponential Equation Solver

Another general routine for solving a particular type of equation is this one
to solve for an exponent in an exponential equation.

Given the values A, B, m, and n, this program will solve for x in any
exponential equation of the form:

Amx+n = B

For example, the program will solve any of the following problems:
1. 5X = 40

2. 53X+1 = 7.6

3. 17x-3 = 8.12

4. 1112X = 247

If you were to solve an exponential equation by hand, you would probably
go through the following steps:

5X = 40

log 5X = log 40
x log 5 = log 40
x = log 40/log 5
x = 1.6021/.6990 = 2.292

However, in more generalized form, the solution for x is:

logB

X = log A
M-(N/M)

Note that the program to solve this problem is actually divided into two
sub-programs. The first is a data loader program. It requires that data be en
tered in the following order: A, B, m, and n for each equation to be solved. If
a coefficient is not present, it must be entered as a zero.

The data for the four problems listed above were entered into the two
data statements (50 and 60).

The program as it is presented here can be improved in several ways. First,
it always solves the same four equations. How can you generalize it to solve
for other equations? Second, if you were to make use of this routine in an
other program, you would probably not be able to use a read statement; how
could you get rid of it?.
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10 PRINT "EXPONENTIAL EQUflTI
D N S D L V E R "
IS^PRINT"fl B M N
2 0' R E ft D fl , B , fl, N
3 0 X = <L•G CB)•L 0 G ifl > >/M-<N • M >
3 5 X=INT<.5+100*X)/,100
40 PRINT fl? TRB<:5> 3 BS TRB<! 10> 5
MS TAB* 15>?N5TfiB(20)3X
45 GDTD 20
50 DATA 5,40,1,0,5,7.6,3,1
60 BfiTfl 17.3.12,1,-3,11,247,
— 2 9 1
99 END

> R U N
EXPONENTIAL
fl B M
5 4 0 1
5 7.6 3
17 8.12

11 247 -2

EQUATION SOLVER
N
0
1

3
1

* DATA ERROR IN 20
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Roots of Any Function

This program will find the roots of a function, any function! The function
may be linear, quadratic, cubic, trigonometric or any combination as long at
it can be represented in the Basic language. The program as it appears here
finds the roots between -20 and 20 although you can change these boundaries
in Statement 120.

The method used involves evaluating the function at small incremental
intervals, finding places where the value of the function changes sign and
then, by successive approximations, finding the zero point. This approach
borrows from Newton's method in the final narrowing down but, unlike
Newton's method, will not fail to converge in the event one makes an unlucky
first guess.

Before running the program you must first type in your function in State
ment 100. For example,

DEF FNA (X) = 2*XT3+11*XT2-31*X-180
DEF FNA (X) = X-4

DEF FNA (X) =SIN(X)-.5

You may have to refer to the Basic manual with your system to see exactly
how a function should be stated.

The routine used in this program is very powerful and could possibly be
used as a subroutine in many other programs.

How can you use this program to help you solve this problem for x?

x = vi2vi2v12>/12nA^
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10
3 1
1 1
12
13
+ 1
14
15
16
17
18
19
20
21
22
23
24
25
HE
26
0 +
27
23
29
3 0

• R UI
F'C-
F'C-
F'C

D
X-

7

F
I

>T
K
J
I
•?

R
j
z
r
j
G
K
I
2
Z

5)
I
P

iS
E

EF
ISO
1 =-!
OR

HEN
= 1

F FHfl<KXFNfi< J>THEN 200
= K.

F NfU X > = 2 * X A 3 + 1 1 * X 's 2 -

5
4
4

•200
I=-l9.9 TO 20

;G N C F N A <I> > = S SN C F N fl < I
10 0

= c
= <K
F F
= Z
DTD

F^fl
00
= SG
no
F Z
RIN
1=Z
EXT
ND

= 0
:>

=o

E

F

= 0

>
5

DN

BE
s

r

DNi

BE!

3.
6 .
2.
. 9
. ?
. 6
52
. 6

• §
. 9
3 .
5.
9.

+ J > s 2
Hfl C Z ><0 THEN 240

250

B S C F N fl <-' Z > :• > . 0 0 0 0 0 5 T

N C Z > * I NT < REs <: Z > * 1 000
00 0
=Z1 THEN 300
T " F ( " 5 Z 5 " ) = 0 "

** D

= 0

**

FNfl<X>«X-4

**

FNfKX>=SIN<X>-. 5

•101
•RUI

F'C

**

•10i
•RUI

F
C-

3 2
23
0 4
48
59
65
36
18
06
01
09
18
37

6 >
16
2 3
4 >
6 >
2 !)

> =
8 >
2 :j

44
32

* * DONE * *

= 0
>=0
>-0
= 0
•0

5°
0.

= 0
0
>=0
>=0
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Plot Any Function

Here is a nifty program that will produce a plot of any function on the
screen or printer.

Before running this program, you must type in your function in line 200.
Like the previous program, which finds the roots of any function, this one
will plot any function. You must tell the program between what values you
want the function plotted, i.e., a minimum and maximum value of the x co
ordinate. You also input the x plotting increment you wish.

As it appears here, the program does not allow the user to select the y co
ordinates; the program plots y values between -30 and 30.

Here are several functions you might want to try plotting:

Function

DEF FNA(X) = 2*X

DEF FNA(X) = 30*SIN(X)
DEF FNA(X) =X-X*X

DEF FNA(X) = 30*EXP(-X*X/100)
DEF FNA(X) = X*X-X

DEF FNA(X) = XT2-X-15

XLirnits Increment

-15 15 1

-5 5 .25

-5 6 .5

-30 30 1 .5

-5 6 1

The last function listed is the one plotted in the sample run with the pro
gram. Exponential functions are a great deal of fun and sometimes lead to
unexpected and interesting results, particularly when combined with trigo
nometric functions. Experiment! Have fun!

28



200
210
22 0

BEF FNfl<X>»X"2-X-15
PRINT
INPUT "INITIAL VALUE OF

"INPUT "FINAL VALUE DF X»230
i) • <.y *

248*INPUT "INCREMENTAL STEP
— itt • c-

256' PRINT
290 PRINT TAB<12>5 "X=" J XI
300 FOR X=X1 TO X2 STEP -S
3 10 IF fi B S < X X . 0 0 0 0 0 1 THEN 3
£ n
b U

32 0
322
32 5
33 0
340
a n 1

Y = FNAOOx2+14
IF Y<28 THEN 330
v s *"k"?

IFX,Y>I4 THEN 410
(PRINT TflB(Y)?"*u?TflB(14 >

7 1

350
360

GOTO 420

-L?iIl!T +Y«
PRINT "-30 -2 0 -10 0 +1

10 +30"
V ss 'x1 — Q

6QTD 420
PRINT T fl B < 1 4 > S " ! " ; T A B <. Y >

37 0
o +•;
38 0
390
410
; " * '
420
430
999

1

NEXT X
PRINT T ft B <12 > 5 " X = " 5 X 2
END

INITIAL VALUE DF X=7
FINAL VALUE DF X=-6
INCREMENTAL STEP =1

X =

-Y +Y
-30 -20 -10 0 +10 +20 +30

*

X = -6

* * DONE * *
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"I'm in the kitchen, dear—using the computer.
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3
Sets and Repetitive Trials

For solving relatively simple problems, the computer may not be any help
at all. In fact, it may take more time to write a program to solve a problem
than it would to solve it by hand or with a calculator. This chapter should
help you recognize problems that are suitable for computer solution and
those that are not.

In some problems, you may think that the computer will not be any help.
However, one thing writing a computer program will always do is force you
to reason out the approach to solving the problem logically and precisely. The
computer can't solve problems unless it is told exactly how to proceed; hence
you must understand a problem completely before you can program it for the
computer.

Several of the sections in this chapter discuss sets of data. While the sets
used in the examples have relatively few elements or values, you should bear
in mind that real world problems often have thousands or millions of pieces
of data, and the only practical way to solve problems of this size is with a
computer. For example, consider how you would most efficiently schedule
the shipments on a railroad train leaving Boston with 4000 diverse cargoes
bound for Phoenix and 780 points in between. Now consider that there are
200 freight trains per day leaving Boston. Now add to that the 10,000 other
trains leaving other cities every day that must use the same network of track
and you can see that dealing with real world sets of data is no easy task.
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Group of Girls and Boys

In the previous chapter we said that there may be some problems for which
brute force trial and error is appropriate. This would be the case if the prob
lems were relatively small and trying every possible solution would not tie up
a great deal of valuable computer time. Here is a problem involving two lin
ear equations that lends itself to a trial and error approach.

The problem is as follows: When 15 girls leave a group of boys and girls,
there are two boys for every girl (lucky girls). Next, 45 boys decide to leave;
then there are 5 girls for every boy (lucky boys!). How many girls were there
in the group before anyone left?

Before rushing to the computer, you must recognize that this problem re
quires the solution of two simultaneous equations. If G equals the original
number of girls and B the original number of boys, then the two equations
are:

(G- 15) x 2 = B

(B-45)x 5 = (G- 15)

10 1=0
20 FDR G = 1 TO 100
3 0 FDR B=l TO 10 0
40 1=1+1
50 IF 2*(e-15)<>B THEN 90
6 0 IF 5*<B-45XXG-15>THEN 9
0
7 0 PRINT G ? " G I R L S , "? B5 "BD YS
ii

8 0 GOTO 120
90 NEXT B
100 NEXT 6
110 PRINT "NO SOLUTION BETWE
EN 1 & 10 0"
12 0 PRINT I? "C D MBIN fl TID N S T R
I ED "
9 9 9 END

•RUN
4 0 GIRLS, 50 BOYS
39 5 0 COMBINATIONS TRIED

* * DONE * *

The computer program uses two FOR loops (Statements 20-100 and 30-90)
to try every combination of values for B and G between 1 and 100 until a
solution is found or until the program runs out of values. The variable I
(Statement 40) is a counter which records the number of trials required to
reach a solution.
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The program is straightforward and finds a solution after 3950 trials. How
ever, it would have been a simple matter to substitute the value of B from the
first equation in the second one and quickly solve the problem by hand or
with the aid of a calculator. It is important to recognize that if a problem can
easily be solved by other methods, the computer offers little or no advantage.

Try this problem. You may or may not want to use your computer. If Mat
thew can beat Jeff by one-tenth of a mile in a two-mile race and Jeff can beat
Steven by one-fifth of a mile in a two-mile race, by what distance could Mat
thew beat Steven in a two-mile race? (Hint: the answer is not 3/10 mile.)

•X_<

^
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Brown's Books

The use of a trial and error approach can generally be improved signifi
cantly if the combinations to be tried can be narrowed down in some way.
The solution to this problem illustrates how the speed of obtaining a solution
can be improved well over 100 fold by combining equations and eliminating
certain solution possibilities.

Here is the problem. Brown sold 48 books at a flea market, some for $3
each, some for $5 each and others for $8. He collected a total of $175. He
remembered having an even number of $5 books. Can you determine how
many of each kind of book he had?

The equations for solution are (letting T equal the number of $3 books, F
the number of $5 books, and E the number of $8 books):

T + F + E = 48

3*T + 5*F + 8*E = 175

The first program was written simply to try all possible combinations of T,
F, and E from 1to 48. It yields three solutions for the problem, although the
two solutions with an odd number of $5 books can beeliminated leaving just
the one desired solution.

10 PRINT "BOOKS PROBLEM"
30 PRINT "RLL SOLUTIONS"
?8BJ5i?I-;i»0",TnBcl0>|,,«"i
50 PRINT
60 FDR T=l TO 43
70 FDR F=l TO 48
IS £PR .g =i TO 43
90 IF (.T + F + E><>48 THEN 120
EN°1^0 (T^+^5+E*S)Oi75 TH
110 PRINT T?TflBCiO)SF;TRBC20
12 0 NEXT E
130 NEXT F
14 0 NEXT T
999 END

BOOKS PROBLEM
FILL SOLUTIONS

* 10 $5 $8

4Q 3 5

34 13 1

DONE **
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This program took approximately 22 minutes and 13 seconds to runonthe
TI 99/2 computer. A typical minicomputer (PDP-8/e) could run this prob
lem in about 7.3 seconds. In either case, this is a long time to tie up the
computer.

It is rather easy to combine the two equations into one by solving for T.
The single equation is then:

2*F + 5*E = 31

In this equation, the limits can be reduced (from 48 used in the first run)
since F cannot possibly be greater than 31/2 or 15.5 and E cannot be greater
than 31/5 or 6.2. Making the appropriate program modifications leads to the
second program.

>70 FDR F=l TO 15

518 5PRCP^+̂ 55<>31 THEN 120
MOO
>105 T=*48-F-E
>140
>
>RUN
BOOKS PROBLEM
RLL SOLUTIONS

SiO $5 $8

40 3 5

34 13 1

** DONE **

Using this program produces a dramatic improvement in the time to solu
tion. On the TI 99/2, the time is approximately 2.5 seconds and on the PDP-
8, about 0.16 seconds.

Since the problem states that F must be even, a final modification which
steps F by two in Statement 20, can be made. This version of the program
takes only 1.25 seconds to run on the Timex and 0.06 seconds to run on the
PDP-8.

>20 PRINT "SOLUTIONS, EVEN \>?\
L U E OF F"

>70 FOR F=2 TO 14 STEP 2

Notice the enormous improvement in computing time required for a solu
tion, over 1000 fold on the TI 99/2 and 100 fold on a PDP-8. Brute force
certainly is inefficient! It isgenerally worthwhile to think through most prob
lems, particularly big ones, before rushing to the computer. The computer
may be fast, but we just improved its performance by 1000 times by using a
little common sense.
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Intersection of Sets

Two sets of numbers can be combined to yield a third set by the operation
of intersection. The intersection of two sets A and B is the set that contains all
elements that belongto both A and B. It doesnot contain any other elements.
The intersection is usually written A n B.

For example if M = < 0,2,4,6 > and K = < 1,2,3,4 >, then M n K =
< 2,4 >.

This program finds the intersection of two sets of numbers. It has been
written to find the intersection of the two repetitive sets described in State
ments 30 and 40. In the sample run, Statement 30 describes the set

x = < 1,3,5,... 19 > and Statement 40 describes the set
y = < 2,5,8,. . . 29 >.

Notice that successive values of x increase by 2 and y by 3.

F°SETS"T "THE INTERSECTIDN D
20 PRINT "X RND Y IS:"
30 FOR X=l TO 19 STEP 2
40 FOR Y = 2 TO 29 STEP 3
50 IF X=Y THEN 100
60 NEXT Y
70 NEXT X
3 0 STOP
10 0 PRINT X
110 GOTO 70
99 9 END

>

^^NiMfE5lfCTIDN DF SETS
1 1
17

* * DONE * *

However, if the set cannot be so neatly described, it may be desirable to
rewrite the program to examine any set of data. This is done with the read
statement which reads into x the data points in the data statement.Thepro
gram is set up to use the same y set as the first program, but the x set is de
fined in the data statement.

You should be able to see from the first combination of sets that if there is a
numerical pattern in the sets which intersect, then there is also a pattern in
the resulting intersecting set. In the example, the x values increase by 2 and
the y values by 3, hence the values in the intersecting set increaseby 2 x 3 =
6. Although the intersection of these sets could easily be calculated by hand,
the computer can be an aid in evaluating more complicated sets.
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10 PRINT "THE INTERSECTION 0
F SETS"
2 0 PRINT "X FIND Y I Si "
30 RERB X
40 FDR Y = 2 TO 29 STEP 3
50 IF X=Y THEN 100
6 0 NEXT Y
70 GOTO 30
100 PRINT X
110 GOTO 3 0
200 BRTfl 2,3,8,9,14,15,20,21
,26,27
999 END

E INTERSECTION
AND Y IS:

> R U
TH
X
2
8
1
2
2

OF SETS

* DflTR ERROR IN 30
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Prime Factors

A prime factor is a positive integer that has no factor except itself and one.
The first ten prime factors (or numbers) are 2, 3, 5, 7, 11, 13, 17, 19, 23, and
29. The definition gives the basic method for determining whether a number
is prime: divide by all smaller integers down to 2, testing whether the remain
der is zero for at least one of them. If not, the number is prime.

But this is highly inefficient. It is obvious that a number is not prime if it is
any even number greater than 2; hence only odd divisors need to be tried.
Also, it is not necessary to try divisors greater than the square root of the
number.

Since the division method is inefficient, various schemes have been devised
to avoid division. The basic idea underlying all such schemes is called the
sieve of Eratosthenes (276 B.C.-195 B.C.). Imagine a list of odd numbers
from 3 up. Strike out every third number after 3, every fifth number after 5,
and so on. This will leave only prime numbers.

10 DIM A<140>

30 PRINT "PROGRAM COMPUTES P
RIME "
40 PRINT "FACTORS OF ANY INT
E 6 E R "
50 PRINT
6 0 PRINT "ENTER 0 (ZERO) TO
STOP"
90 PRINT
100 INPUT "YOUR NUMBER =*'sf1
110 X = 0
120 BbINT(M)
130 IF M>0 THEN 160
135 IF M = 0 THEN 330
14 0 PRINT "MUST BE POSITIVE"
15 0 GOTO 100
16 0 PRINT M 5
1?0 1=1
180 1=1+1
190 IF I > M THEN 250
2 0 0 IF M s I <> I NT < M sI> T H E N 18 0
2 10 X = X+1
2 2 0 fi <X> = I
23 0 M=M/I
240 GOTO 200
250 IF X=l THEN 300
26 0 FDR L=l TO X
2 70 PRINT A < L > ?
2 8 0 NEXT L
290 GOTO 3 10
3 0 0 PRINT "IS PRIME"
310 PRINT
320 GOTO 9 0
330 STOP
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PROGRAM COMPUTES PRIME
FACTORS OF ANY INTEbER

ENTER 0 <ZERO> TO STOP

YOUR NUMBER =105
105 3 5 7

YOUR NUMBER =72
72 2 2 2 3 3

YOUR NUMBER =89
89 IS PRIME

YOUR NUMBER =47
47 IS PRIME

YOUR NUMBER =0

** DOME **

The program here finds the prime factors of any integer, or prints out "N is
prime" if the integer has no proper divisors.

Run this program for a large number of different integers and see if you
can discover relationships between numbers and their prime factors. You
should also try to figure out the method employed in the program to find the
prime factors of any integer. To do this, you might want to draw a flowchart
to show what is happening in the program. This will help you see the method
used to find a prime factor and might help you in writing a program to gen
erate primes.

In writing a program to generate prime factors, you can use the sieve
method. However, as the numbers become very large, you will have to figure
out a way to represent integers with more digits than your computer can han
dle at one time. (One approach is described on pp. 19-21 of Computers in
Mathematics.)

Goldbach was a mathematician who made a conjecture that every even
number greater than 4 can be written as the sum of two prime numbers (16 =
11 + 5, 30 = 17 + 13, etc.). No one has ever proved it but no one has dis
proved it either. That is why it is called a conjecture. Can you write a pro
gram that will prove or disprove this conjecture? Or how about writing a
program to prove Goldbach's conjecture for even numbers up to 50? You
should be able to write this program with 12 or fewer statements.

Here is another problem involving prime numbers. Assume a life span of
80 years. In what year of the 20th century (1900-1999) would a person have
to be born to have the maximum number of birthdays occurring in prime
years? The minimum number?
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Greatest Common Divisor

The greatest common divisor ofaset ofnumbers is, as its name implies, the
greatest integer that will divide into a set of two or more numbers. For exam
ple, the set of numbers 12, 20, and 28 have a greatest common divisor of 4.
Nothing larger than 4 will divide evenly into all three numbers.

This program will find the greatest common divisor for any set ofintegers.
To run it, you simply input the number of integers in your set, type them in
when requested and let the program calculate the GCD. The heart of the
calculation is in Statement 180.

Do you know the meaning of a relatively prime set of numbers? Can you
figure out the meaning from the third sample run of the program or from
runs of your own? How is a set of relatively prime numbers different from a
set of prime factors? Can you find aset of 10 integers that is relatively prime?

10 PRINT "PROGRAM COMPUTES G

20 Pg?NT "COMMON DIVISOR."
40 INPUT "NUMBERS IN SET =":

50 n=intc:n>
6 0 DIM X c: 1 0 0 >
70 PRINT "ENTER NUMBERS1'
SO b= 1 E 2 5
90 FOR K=l TO N
100 INPUT X'::K>
110 IF XCK>>S THEN 130
12 0 S = X < K >
13 0 NEXT K
14 0 PRINT
15 0 G = 0
160 FOR M=2 TO S
170 FOR 1=1 TO N
180 IF X<I>s»<>INTCXCI>^M>TH
E N I'lO
190 NEXT I
2 0 0 G = M
210 NEXT M
2 2 0 PRINT "NUMBERS "5
230 IF 6>0 THEN 260
240 PRINT "ARE RELATIVELY PR
I M E "
250 60T0 2 70

158 mm "G-c-D- =,*5G
2S0iiPRINT "ANOTHER SET <Y OR
290 INPUT RS

310 STOP*="Y<' THEN 30
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>RUN
PROGRBM CDHPUTES
COMMON DIVISOR.

GREATEST

NUMBERS IN SET
ENTER NUMBERS
? 12
? 36
? 96

NUMBERS

ANOTHER

G • C . D .

SET CY

NUMBERS IN SET
ENTER NUMBERS
^ 2 0
? 36
? 97

= 3

= 12

0 R N > ?

= 3

Y

NUMBERS RRE

ANOTHER SET

RELATIVELY PRIME

<Y OR N>? •

In the last section we discussed prime numbers. Here is an interesting chal
lenge for you involving prime numbers. Until late 1982, the longest pro
gression of prime numbers in which all differed by the same number was 17.
Prof. Paul Pritchard in the computer science department at Cornell Univer
sity wrote a program to determine if there was a longer progression. Using a
DEC VAX-11/780, he found the string of 18 numbers shown below. He also
discovered fourteen other 17-number progressions and ten 18-number pro
gressions, but none yet with 19 numbers. He believes there is at least one; can
you find it?

107928278317 197233324147

117851061187 207156107017

127773844057 217078889887

137696626927 227001672757

147619409797 236924455627

157542192667 246847238497

167464975537 256770021367

177387758407 266692804237

187310541277 276615587107
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Cryptarithmetic Problems

Cryptarithmetic or alphametic problems are arithmetic expressions in
which the digits are replaced by letters of the alphabet. Each digit is asso
ciated with a letter to produce an interesting statement, for example:

SEND
+ MORE

MONEY

If the college student who sent this message to his father needed $106.52
for plane fare home, this was the right message to send sincethis combination
of letters has one unique solution, in particular:

9567

+ 1085

10652

However, if the student let things go to the last moment and was in more of
a rush, he might have reworded the message:

WIRE

+ MORE

MONEY

In this case, how much should his dad send? Earlier in the book, trial and
error approaches to solving problems were discussed. It was noted that the
brute force approach of trying every alternative was sometimes appropriate.
Is it in this case?

No! The number of possible alternative solutions is the factorial of the
number of different letters in the alphametic expression, i.e., 8! or 40,320. A
program to try out every one of these possibilities would run for a 1-o-n-g
time.

In this case it is much more efficient to apply some common sense to nar
row down the number of alternatives. The best approach to this process is to
divide up the search space into large classes (or sets), according to a common
property shared by members of each class, and then attempt to eliminate en
tire classes by the method of contradiction.

Consider the "WIRE + MORE = MONEY" problem. Can E = 0? Since
E + E = Y, Y must also equal 0, contradicting the fact that Y and E mustbe
different digits. Thus, the entire class of solutions in which E = 0 can be
ruled out.

Consider E = 3. Now Y = 6 and there is no carry to the next column. So
in this column R + R = E or E + 10if a carry is involved. But in either case
E must be an even number since 2R is always even; this contradicts the
assumption that E = 3.

By following this type ofclassificatory contradiction process for each ofthe
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digits in the order E, R, I, O and N, the computer program will search out all
possible solutions to the problem. Unlike the "send more money" problem,
the "wire more money" problem has five possible solutions. A smart father
would choose the lowest solution and wire his son $103.48.

1^0 PRINT ;; PROGRAM FINDS ALL
20LPRINTS^Ta THE FOLLOWING P
R a B L E M : "

18 PiiHT - hie ii
70 PRINT" M D N E V"
SO PRINT

?HoMf1r E=2 TO 9
110 Y = E + E
120 IF Y>10 THEN 150
13 0 C1= 0
14 0 GOTO 170
150 Cl=l
160 Y=Y-10 ,„ „
170 FOR R=l TO 94„_
180 IF R = M THEM 4 70
182 IF R=E THEN 470
184 IF R=Y THEN 470
190 IF R+R+C1=E THEN 220
200 IF R+R+Ci-E+10 THEN 240
210 GOTO 470
22 0 C2=0
230 GOTO 250
2 40 C2=l „„ .
250 FDR 1=0 TD 9
260 IF I-M THEN 460
262 IF I=E THEN 460
264 IF I=Y THEN 460
266 IF I=R THEN 460
27 0 FOR 0=0 TD 9
2 80 IF D=N THEN 4 50
282 IF D=E THEN 450
284 IF a=V THEN 45U
286 IF a=R THEN 450
238 IF D-I THEN 450
2 90 N~I+a+C2
300 IF N>=10 THEN 330
310 C3=0 __„
32 0 GOTD 35 0
3 3 0 C 3- 1
340 N = N - 1 0
350 IF N=M THEN 450
360 FOR W=0 TD 9
362 IF U«M THEN 440
364 IF W=E THEN 440
3 6 6 IF W=Y THEN 44 0
36 8 IF W=R THEN 440
370 IF U-I THEN 440
37 2 IF U=D THEN 440
374 IF U=N THEN 440
330 IF D.+10OU+ M + C3 THEN 440
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390
400
4 1 0
420
4 3 0
44 0
450
460
470
480
49 0

PRINT " II
? W? I 5 R; E

PRINT " II
? MS n? P : E

P P T W T " -

PRINT M 5 0? N ; F? Y
PRINT
NEXT U
NEXT D
NEXT I
NEXT R
NEXT E
STDP

PROGRAM FINDS ALL SOLUTIONS
TO THE FOLLOWING PROBLEM:

+
u
M

I
D

R
R

E
E

M D N E Y

9
1

7
0

6
6

2
2

1 0 8 2 4

9
1

2
0

7 4
4

1 0 3 4 8

9
1

5
0

7
7

4
4

1 0 6 4 8

9
1

2
0

8
3

7
7

1 0 3 7 4

9
1

5
0

8
8

7
7

10 6'

* * DONE * *

There are other approaches to solving cryptarithmetic problems, but all of
them benefit greatly from reducing the search space as much as possible be
fore putting the problem on the computer. See if you can devise another
successful approach and write a program to implement it.
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Here are some problems for you to try.
DONALD TWO

+ GERALD X TWO

ROBERT

ABC

x DE

FEC

DEC

HGBC

THREE

THE

EARTH

VENUS

SATURN

+ URANUS

NEPTUNE

ABCDE

x 4

EDCBA

SPRING

RAINS

BRING

+ GREEN

PLAINS

VIOLIN + VIOLIN + VIOLA + CELLO = QUARTET

THREE + NINE = EIGHT + FOUR

ONE FORTY FIVE

TWO TEN -FOUR

+ FIVE + TEN
ONE

EIGHT SIXTY + ONE

TWO
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Sailors and Monkey Problem

There are many variations of the sailors and monkey problem. Here is one
of them.

Five sailors and a monkey were on an island. One evening the sailors
rounded up all the coconuts they could find and put them in a large pile. Be
ing exhausted from working so hard, they decided to wait and divide them up
equally in the morning. During the night, a sailor awoke and separated the
nuts into five equal piles, but had one nut left over which he gave to the mon
key. He took one pile, hid it, and pushed the other four together and went
back to sleep. He was followed in this action by the other four sailors, each of
whom did exactly the same thing. Next morning the remaining nuts were di
vided equally with one remaining nutgoing to themonkey. What is thesmall
est number of coconuts with which they could have begun?

Although there is an elegant algebraic solution to this problem, a more
suitable approach for the computer is that of working backwards. A typical
solution to a problem can be thought of as a path that leads from the given
information to the goal. However, in this case the goal, or final state, is
known, thus it is easier to start there and work backwards to the initial state.

As mentioned at the outset, many sailor and monkey problems exist, in
fact, an infinite number of them. For example, instead of five sailors, there
could bethree or six or 14. Thus it isdesirable to devise a general solution in
stead of just one to solve one specific problem.

In the flowchart and computerprogram, S is the numberof sailorsand A is
the number of coconuts that each sailor received in the final division of the
pile. Since one coconut was given to the monkey at each division, the total
number ofcoconuts left in themorning must beSx A + 1. Butthis pile came
from pushing together S - 1 equal piles. Thus, the key condition that must
hold for (S x A + 1) / (S - 1) to be an integer K, which represents the num
ber of coconuts that the last sailor stole from a pile of S x K + 1 coconuts.
But this pile is the result ofpushing together S- 1equal piles by the previous
thief, so again (S x K + 1) / (S - 1) is an integer and so on back through all S
raids on the pile.

Note in the flowchart (and program) that the first trial value for A is 1
(Statement 70). In Statement 110 thisvalue is increased by 1until the value of
(S x K + 1)/ (S - 1) isan integer as tested for inStatement 100. This process
is then continued until the counter for the second loop, N (nighttime pile di
visions) equals the number of sailors.

Although the program will work for any number ofsailors, it takes a fairly
long time to runfor more than five. Remembering what you have learned ear
lier in this chapter, can you devise a way to make the program more efficient?
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10
LDR
20
WDR
30
4 0
50
" : S
6 0
7 0
30
90
100
K+l
1 10
120
130
140
150
160
170
TS
130
TO
190
200
2 10
RCH
220
230

PRINT
S AND'
PRINT
KINS"
PRINT
PRINT
INPUT

"PROGRAM SOLVES SRI

" M•N K E Y PROBLEM BY

"BACKWARDS."

"NUMBER DF SAILDRS=

PRINT

* = i
K = A
N = 0

IF C
> • C S -

A = A +
GDTO
N = N +
K=<S
JF N
150T0
PR IN

THAT"
PR IN

BEGIN
PR IN
PR IN
PR IN
SAIL
PRIN
STOP

S*K+1 >/-<S- 1 > = INT< <S*
1>>THEN 130
1
80

*K+i>*"<S-l>
=S THEN 170

t^the fewest cqcdmu
t"'"sailors can have
n

T " I s"; S * K + 1

T "IN THE MORNING, E
OR"
T "GETS"5 A

>RUN
PRO
MDN
BAC

GRAM SOLVES SAILORS AND
KEY PROBLEM BY WORKING
K W A R D S .

NUMBER OF SAIL0RS=3

THE F E W E
SAILORS
IS 79

ST COCONUTS THAT 3
CAN HAVE TD BEGIN

IN T
GETS

HE
7

MORNING, EACH SAILOR

* * DONE .* *

> R U N
PROS
MONK
BACK

RAM SDLVES SAILORS AND
EY PROBLEM BY WORKING
WARDS.

NUMBER OF SflILDRS=5

THE
SAIL
IS 1

IN T
GETS

FEWE
ORS
5 62 1

HE M
102

ST COCONUTS THAT 5
CAN HAVE TO BEGIN

ORNING, EACH SAILOR
3

** DONE **
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Super Accuracy

Under normal circumstances, your computer performs computations to six
or seven digits of accuracy. Double precision computations increase accuracy
to 13 digits or so.

However, it is possible to do computations one digit at a time and assign
each digit to an element in an array. This will achieve virtually any desired
accuracy. Any, up to the maximum array size that is.

Thisexample program performs the rathersimple operation ofsuccessively
doubling a number (which is the same as raising 2 to a power).

If the number to be represented is 8192, then:
A(4) A(3) A(2) A(l)

8 19 2

To add this to itself, first the rightmost digits are added: A(l) + A(l).
If there is a carry, the variable C is set equal to 1, otherwise C is 0. The total
is put into B in Line 100.

If B is less than 10, thereis no carry (C= 0) and the new A(l) equals B. If
B is greater than 10 there is a carry (C= 1) and the new A(l) equals B-10.

This operation is continued for all the digits (D) of the number and, when
it is finished, the new number is printed in Lines 220-240.

If A(N) is printed followed by a semicolon(;) for tight packing, the Basic
print routine would leave a space in front of each digit (for the sign) and a
space after each digit (for readability). In the program here, these spaces are
not wanted, hence the printroutine in Line 230 isused which prints thestring
value of the ASCII value of each digit (which is the same as the digit itself)
but without the spaces.

This program, incidentally solves the challenge to calculate the number of
moves in the Towers of Brahma problem (see "Change for Any Amount to
$5.00). The approach is also used in the next section, "Palindromes."

10 PRINT "COMPUTES 2 TD Nth
TD ANY": "ACCURACY?»f:
20 DIM FK100>
3 0 M = 0
40 C = 0
5 0 D = O
6 0 A<1)=1
70 1=0
80 C = 0
90 M=M+1
10 0 I = I + 1
1ig B=ACI>+R(I>+C
120 IF B>9 THEN 150
13 0 C = 0
140 GOTO 170
150 B=B-iO
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>RUN
COMPUTES 2 TO Nth TD ANY
ACCURACY.

1 2
2 4

4 16 160 C = l
5 32 i?0 fi<I)=B
6 64 180 JF KB THEN 100
7 128 190 IF C=l THEN 100
8 256 200 PRINT Ms
9 512 210 D=I
10 1024 220 FOR N-I TD 1 STEP -1
!2 3832 238 ri^t cHR«<n<N>+48>.
13 8192 250 PRINT
14 16384 260 60.TD 70
15 32768
16 65536
17 131072
18 262144
19 524288
20 104S576
21 2097152
22 4194304
23 3383608

1% h%llllh\
26 67108864
27 134217728
28 268435456
29 536870912
30 1073741824
31 2147483648
32 4294967296
33 3539934592
34 17179869184
35 34359738368
36 68719476736
37 137438953472

^24503599627 370 496
53 9007199254740992
54 18014398509481984
55 36028797018963968
56 72057594037927936
57 144115188075855S72
58 288230376151711744
59 576460752303423488
60 1152921504606846976
61 2305843009213693952
62 4611686018427387904
63 9223372036854775808.
64 18446744073709551616
65 36893483147419103232
66 73786976294338206464
67 147573952589676412928
68 295147905179352825856
69 590295310358705651712
70 1180591620717411303424
71 236113324143482260684S
72 4722366482869645213696
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Palindromes

A palindrome is a word, verse, or number that reads the same backwards
or forwards. For example, the words "mom" and "eye" are palindromes. So
are each of the lines in this verse:

Egad, a base life defiles a bad age
Doom an evil deed, liven a mood

Harass sensuousness, Sarah

Golf; No, sir, prefer prison-flog
Ban campus motto, "Bottoms up, MacNab"

Numeric palindromes are those numbers which read the same backward as
forward. The examination of these numbers is a field rich with possibilities
for creative computing.

One conjecture concerning palindromes raises an interesting unanswered
question. Begin with any positive integer. If it is not a palindrome, reverse its
digits and add the two numbers. If the sum is not a palindrome, treat it as the
original number and continue. The process stops when a palindrome is ob
tained. For example, beginning with 78:

78

+ 87

165

+ 561

726

+ 627

1353

+ 3531

4884

The conjecture, often assumed true, is that this process will always lead to
a palindrome. And indeed that is just what usually happens. Most numbers
less than 10,000 will produce a palindrome in less than 24 additions. But
there is a real thorn in the side of this conjecture, the number 196. Can you
determine if a palindrome will ever be produced with a starting number of
196?

The number 196 will produce 1675 after two reversals, but after 100 rever
sals the resultant sum has 47 digits and is still not palindromic. Why mention
1675? Because ten other numbers under 1000 will also lead to the sum of

1675 and thus may not become palindromic. The first five of these numbers
are 196, 295, 394, 493, and 592. What are the other five?
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The program here will accept any number as a starting value and complete
the process of addingthe successive reversals and testing if the sum is a palin
drome. Try it with some numbers and see if you can identify any patterns.

10 P
E C T U
20 P
ITS
3 0 P
PRO

40 P
45 P
QUIT
50 D
60
7 0
75

SO
90
100
:. 10
;.20
:.30
:.40
.50
60

";70
80

: 90
200
210
220
23 0
240
250
260
270
• ME"
28 0
290
2) + l
30 0
310
320
33 0
340
3 50
360
370
38 0
0>
39 0
>
400
410
420
430
440

RINT
RE "
RINT
AND"
RINT
HUCE
RINT
RINT
II

III B
RINT
N P U T
F A =
RINT
= 0
= E + 1
n = fl /
IF I
FOR
•fi = lrl*
BCO
NEXT
D = 0
FOR
IF B
D=l
NEXT
FDR
PR IN
NEXT
IF B
PR IN
GOTO
PR IN

IF E
B <. I N
>
FDR
BCO
NEXT
FDR
BCE +
NEXT
BCE +
FDR
b <: c +

" PROGRAM TESTS CDM-.

"THAT REVERSING DI(

"ADDING WILL ft L U AY i

"fl PALINDROME."
"ENTER 0 (ZERO) TD

< 5 o :>

"START
0 THEN

NUMBER ="
440

10
NT-C
C = E
10
= I N T < fl - 1 0 * I N T < R / 1 0 > >
C

A>>0 THEN 90
TD 1 STEP -1

T D I N T < E s 2 >
= B<E+1-C)THEN 20 0

C=l
>: c >

T C
C

= 1
T "
60

T "

-•' 2 <
TCE

C = l
= BC
C

C=l

1 > =

TD 1 STEP -1
HRS<B<C>+48> 5

THEN 270
IS A PALINDROME"

IS NDT A PRLINDR

= IN
<'2>

TO
C> +

TD
>=B

0
TD

BCC

T<E^2>THEN 30 0
+ 1 >=2*B< INT<E."

I N T <. E • 2 >
BCE+l-C)

I N T < E • 2 >
< C )

B<C)«B<C>

+ 1> + IN T < B <C)•1

1 0 * I N T < B < C > ,' 1 0

NEXT
IF B
E = E +
GDTD
END

C
<E +
1
16

1 >< = 0

0
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> R U H

fBgf"PBviBSI8sci?il¥iu8ED
8D^?M^bfcE?LU*vs PRDD««
ENTER 0 -CZERD) TD QUIT

START NUMBER =19

)• ?~ *§„ N0T A PALINDROME
110 IS NDT A PALINDROME
121 IS A PALINDROME

START NUMBER =96

9 6 IS NOT A PALINDRDME
165 IS NOT A PALINDRDME
726 IS NDT A PALINDRDME
13 53 IS NDT A PALINDRDME
4*8 4 IS A PALINDRDME

START NUMBER =0

Using this method, write a program that examines all the integersbetween
1 and 10,000excluding those that sum to 1675 at any point. What does this
show?By the way, you will have to devise a way to dealwith 14-digit integers
which are larger than your computer can normally handle.

Huh? Is this program "too hot to hoot?"

rr-7 v,V '^MV'^vX
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4
Convergence and Recursion

The computer is especially suitable for doing repetitive and tedious calcula
tions. Two mathematical approaches for solving problems that involve repet
itive calculations are convergence and recursion.

Some problems can be reasonably easilystated in words or describedwith a
few simple equations but there aremany possible solutions. For example, how
many ways can you make change for a dime? It is simply statedand the num
ber of ways can be enumerated fairly easily: two nickels, one nickel and five
pennies, or ten pennies, three ways in all. But if you want to solve for all the
ways of making change for a dollar or five dollars, it would be nice to have
some help.

Help on this kind of problem comes from a class of computer program that
simply breaks the problem into smaller ones and countsup all the alternative
solutions according to a set of rules. But an even more powerful technique is
known as recursion. Using this technique, a simple solving algorithm or rou
tine is set up to solve the smallest subset of the problem. The unique power in
a recursive routine comes from the ability of the routine actuallly being able
to call itself. This is discussed further in the second program in this section.

Another approach for solving problems that do not havean exact answer is
that of successive approximations. For example, the exactvalue of pi,e or the
length of an irregular curve cannot be precisely determined. But by means of
increasingly accurate approximations, it is possible to approach the desired
value from above or below or to converge on it from two directions. The last
four programs in this chapter illustrate successive approximations and
convergence.
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Change For a Dollar

Even though there is very little you can buy for a penny these days, the
coin will probably be around for some time to come since it is needed to make
change for odd amounts of sales tax and to fill up penny collections.

Today U.S. coinage consists of five coins: penny, nickel, dime, quarter, and
half dollar. How many ways can coins of these denominations be used to
make change for one dollar? For example, one way is two half dollars, an
other is one half dollar and two quarters, and so on. Make a best guess now
and write it down before you read further.

There are several different ways to approach a problem of this kind. One is
to break it down into smaller, more easily solved problems. In other words,
how many ways can you make change for a quarter? For a dime? You would
solve these subproblems and combine the answers to give the overall solution.

If you weremore mathematically inclined, you could write a series of equa
tions relating each piece of change to every other one and to the dollar and
solve them.

A third approach is to do the problem by writing down combinations until
all the different possibilities are exhausted (or until you are exhausted) and
then count them all up. This might be called solving the problem by exhaus
tion and is a method quite suitable for putting on the computer.

Write a program that uses this approach to solve the problem. If you use
loops and count by one, it could take a long time for the computer to run
through all the possible combinations, possibly many hours.

Also, if you want to print out all the possiblecombinations, be warned that
the printing could also take quite some time and a fair amount of paper.
There are more combinations than you might think!

In fact, most people will not be able to guess the answer to this problem, or
even come close. Ask several of your friends how many ways they think a
dollar can be changed. Record all the responses and then tabulate them on
your computer. What is the mean (average) of all the guesses? The extremes?

The program included here uses the first method discussed to solve the
problem, in particular, breaking down the problem into subproblems and
then combining the solutions into one final answer.

First, the main problem is broken into the next smaller one of making
change for halfdollars. There are three such problems: no halfdollars (H =
0), one halfdollar (H = 1), and twohalfdollars (H = 2). The last problem is
trivial since there is only one way, but the other two need to be broken down
further.

This is done by dividing the remaining money into quarters and consid
ering the subproblems on down to the lower denominations. As the number
of subproblems is expanded, each one becomes easier to solve. In fact,
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subgoals, which can besolved in only one way, are finally reached. For exam
ple, if H = 1, Q = 1, D = 2, and N = 0, then the pennies (P) must equal
five in order that the total equal 100.

Notice that at the quarter, dime and nickel stages, adjustmentsare made in
the limits of the loops depending upon how much money there is left to
change. For example, if H = 1, the only possible subgoals for quarters are 0,
1,and 2, but not 3 or 4. Also noticethat there is no need to test combinations
of coins to see if they add up to 100, nor is it necessary to include the penny
as a variable. Simply counting the number of subgoals is sufficient since each
one can be solved in only one way.

1.0 C = 0
20 FDR H=0 TD 2
30 FOR Q=0 TD 4-2*H
40 FOR D-0 TD 1Q-5*H-.5*Q ^
50 FOR N = 0 TD 20-10*H-5*Q-2*
Ii
6 0 C = C •*• 1
70 NEXT N
80 NEXT D
90 NEXT Q

110 PRINTH,,THERE ARE"5C?"DIF
FERENT WHYS"* "TO CHANGE ft DD
LLAR BILL. «'

''THERE ARE 292 DIFFERENT WAYS
TD CHANGE ft DOLLAR BILL.

** DONE **

Try to make some changes in this program or write a new one to solve the
following problems. Say you want two quarters in your change to play some
video games. In how many ways can a dollar be changed to provide at least
two quarters?

Visiting a small town, you find the parking meters still take pennies. In
how many ways might you get change so that you had at least three pennies?
Is this any different than the number of ways that would give you five pen
nies? Say you want to make a phone call also; in how many ways can you
change a dollar to produce at least four pennies and one dime?
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Change For Any Amount to $5.00

Another way to attack the change problem in the previous section is by
means of the programming technique called recursion. Get familiar with this
one—it is very powerful! Donald Piele and Larry Wood described this
method in an issue of Creative Computing.

First, define the variables which represent the number of ways to make
change for n cents using the coins specified:

A Only pennies
B Nickels and pennies
C Dimes, nickels, and pennies
D Quarters, dimes, nickels, and pennies
E Halves, quarters, dimes, nickels, and pennies.

Initially, there are two subproblems in making change for n cents. In the
first, no halfdollars are used, and D is the number of ways to change n cents.
Second, when one or more halves are used, after one is paid, there remain
n-50 cents to pay which can be done in En_50 ways.

Since these two cases are mutually exclusive, it can be inferred that En =
Dn + En_50. Similarly,

Dn = Cn + Dn_25
Qi = Bn + Cn_io
Bn = An + Bn_5

Now, begin with the simplest case and build up to E100. First of all, it is
easy to understand why E0 = 1. From above, when n = 50, E50 = D50 +
E0, and it is possible to make change for 50 cents only one more way if half
dollars are allowed. Therefore E0 = 1. Likewise, D0 = C0 = B0 =A0 = 1.
It is also true that An = 1 for all values of n since there is only one way to
make change using only pennies. Now the recursive relationships can beused
to solve the original problem.

This is the strategy used in the program. It also has the added advantage
that it can count the number of ways of making change (with coins) for any
specified amount.

Now it is your turn. Can you modify the program here to include dollar
bills so it could count the number ofways tomake change for any amount up
to $10.00?

Using any method of change making you prefer, write a program to make
change for one ruble. Russian coins come in denominations of 1, 2, 3, 5, 10,
15, 20, 50, and 100 kopecks. There are 100 kopecks in one ruble.
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10
AYS
AM

20
30
40
150
6 0
7 0
SO
" ! X
•50
100
1 10
120
130
140
150
160
170
180
1 90
200
210
220
230
240
250
260
270
280
29 0
6E
FER
30 0

PRINT
TD" s

DUNT"
PRINT
DIM A
DIN ~
D I n
DIM
DIM

"PROGRAM COMPUTES U
"MAKE CHANGE FDR ANY
s"UP TD $5.00"

>: i o l >
< i o l •>
>: i o l >
< 1 o l >

_ < 1 o 1 >
INPUT "AMOUNT TD CHANGE =

M=INT<20*X:> + 1
A
b>:
c<
DC
£•:: _
FDR
A < -J >
BC J)
C <:. J )
IF J
C < J >
D k J :>
IF J
D < J >
EC J>
IF J
ECO
NEXT
PRIN
PRIN

FDR":
E N T Ul
STDP

= 1
= 1
= 1
= 1
= 1
J =
= 1
= fl
= E
< =
= E
= C

= C
= D

= D
J

T
T
"$
AY

2 TD M

C J > + B < J - 1 >

2 THEN 210
C J -f + C < J - 2 >
C J>
5 THEN 2 40
<J>+D<J-5>
< J>
10 THEN 270
<J>+E<J-10>

"YDU CAN MAKE CHAN
" ; X S " I N " J E < M > 5 " D I F
S"

> R U N
PRDGRAM COMPUTES MAYS TD
MAKE CHANGE FDR ANY AMOUNT
UP TD S5.00

AMQUNT TO CHANGE =4.99

YDU CAN MAKE CHANGE FDR
$ 4.99 IN 57420
DIFFERENT WAYS

* * DONE * *

> R U M
PRDGRAM CDMPUTES WAYS TO
MAKE CHANGE FDR ANY AMOUNT
UP TD S5.Q0

AMOUNT TD CHANGE =1.13

YDU CAN MAKE CHANGE FDR
$ 1.13 IN 334 DIFFERENT WAYS

* * DONE * *
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Perhaps the most famous problem used to demonstrate the principles of
recursion is the Towers of Brahma. It is sometimes called the Towers of Ha
noi or Pharoah's Needles. Here is the problem in as close to original form as
possible. You should be able to solve it with a relatively short program using
recursion.

In the great temple at Benares beneath the dome which marks the center of
the world rests a brass plate in which are fixed three diamond needles, each a
cubit high and as thick as the body of a bee. On one of these needles, at the
Creation, God placed 64 discs of pure gold, the largest disc resting on the
brass plate and the others getting smaller and smaller up to the top one. This
is the Tower of Brahma.

Day and night unceasingly, the priests transfer the discs from one needle to
another, according to the fixed and immutable laws of Brahma. These laws
require that the priest on duty must not move more than one disc at a time
and that he must place this disc on a needle so there is no smaller disc below
it. When the 64 discs shall have been thus transferred from the needle which,
at the Creation, God placed them, to one of the other needles; tower, temple,
and Brahmans alike will crumble into dust, and with a thunderclap, the
world will vanish.

If the priests were to effect one transfer every second, and work 24 hours
per day for each day of the year, it would take them 58,454,204,609 decades
plus slightly more than six years to perform the feat, assuming they never
made a mistake—for one small slip would undo all the work.

How many transfers arerequired to fulfill the prophecy? Try out your pro
gram with fewer discs than 64 to make sure you are on the right track. Here
is a table of the first few transfers:

Discs Moves Discs Moves
1 1 6 63

2 3 7 127

3 7 8 255
4 15 9 511

5 31 10 1023

60



Converge on e and Pi

An incredibly important mathematical constant is designated by the small
letter e. This constant is both irrational and transcendental. Look up those
terms in a dictionary or math book if you wish, or just plunge on to the next
paragraph.

The constant e was first derived by John Napier, also the inventor of loga
rithms, to whom we owe an eternal debt of gratitude. Why? If e had never
been discovered, advances in mathematics, physics, and astronomy would
have lagged a century or more, because e is the base of all natural logarithms
and these logarithms are the basis for many branches of science and
mathematics.

How is e calculated? The constant e is the limiting value of this expression
as n approaches infinity:

e = (l + yn)n

Its exact value can never be found, but to 15 places e equals
2.718281828459045 . . . How can e be calculated? First take I-V2 and square
it; that equals 2-lU Then cube 1-Vs and you get 2.3686. Raising l-Y4 to the
fourth power gives 2.414, and so on. Write a program for this method and
have it print out the initial value of e and each value after each additional
fraction is added on.

Another approach is to expand the expression above using the binominal
theorem and, again, letting n approach infinity. The expression for the expan
sion is:

. _I_ j -J- ! -L- j -1_ 1 JL
e = l l +2lJ\T\ + Tlm"nl

Now here is where the computer can again be of some assistance. Since 3! is
3*2! and 4! is 4*3!, all the calculations need not be done for each additional
fraction. Look at the program and particularly note the calculations in State
ments 70 and 90.

10 PRINT "CONVERGE ON E":"HI
T 'FCTN/4' TO HALT"
20 E»i 2 ^
3 0 1=0 2.5
40 1=1+1 2-666666667
50 D=l , 2.708333333
60 FDR J=l TD I 2.716666667
70 D=D*J 2.718055556
80 NEXT J 2.718253968
90 E = E+1/If 2.71827877
100 PRINT E 2.718281526
110 6DTD 40 2.718281801

2.718281826
2.718281828
2-718231828
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Pi is another important mathematical constant that is irrational (meaning
itsexact value can never be determined) and transcendental (meaning it isnot
the solution to any algebraic equation). Interestingly, piwas known and used
bythe ancients. Archimedes, who lived in the second century B.C., byusing a
regular polygon of 96 sides (nearly a circle), proved that the value of pi was
less than 22/7 and greater than 3-10/71, a remarkable achievement for the
mathematics of his day.

Ptolemy in 150 A.D. used the value of 3.1416 for pi and in the middle of
the sixteenth century the amazing fraction 355/113 was discovered, giving
the value of pi accurately to six decimal places.

Incidentally, in 1897, the General Assembly of Indiana passed abill ruling
that the value of pi was four.

Several infinite series can be used to grind out increasingly accurate values
for pi. One such series is (l-Vi + y5 - % + %...). This series is called an
arithmetic series and converges very slowly. The program here displays only
every 500th value of the series. Don't be alarmed if the program does not
seem to berunning very fast; a fair amount of calculating is going on between
each value that is printed.

10 PRINT "CONVERGE D N PI WIT
3nfty«;:UNFINITE SERIES"
i°S-L-D-w"BE PRTIENT5 THIS I
SO^PRINT "HIT 'FCTN/4-' TD MR
4 0 S = 1

I BLi SIPTfBfK i^?LUITH fiN
110 s = -s
120 IFQ<499 THEN SO
1 30 Q = 0
140 PRINT P * 4 3.1435 9 666
150 GDTD 80 3- 14059065

3 . 1 4 2 2 6 0 6 5 6
3.14 10 9 16 5 2
3.141993455
3.141258 6 52
3.14 18 7 8 9 4
3.14 1342 153
3.14181532 1
3.141392253
3.141774836
3.14J425653
3.14 17 4 6 3 0 8
3.14144 9 51
3.14 17 2 6 2 5 4

Actually, the approach used by Archimedes converges much more quickly
and, with the aid of a computer, it is possible to go far beyond the 96-sided
polygon used by Archimedes.
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His approach was to construct inscribed and circumscribed polygons and
measure the perimeters to approximate the circumference of a circle. Con
sider a polygon circumscribed around a circle of radius 1. The perimeter
equals the length of oneside times the number of sides. Since the tangent of x
= AB/BC, but BC = 1, then tan (x) = AB and the length of a side = 2 tan
(x). Since the circumference = 2 pi r and r = 1, then pi is the circumference
(or perimeter of an n-sided polygon) divided by 2.

Similar trigonometry leads to the perimeter of an inscribed polygon being
equal to the number of sides times sin (x) * cos (x).

The second program produces values for pi using inscribed and circum
scribed polygons. Unfortunately, there is one large flaw in the program, be
cause degrees must be converted into radians in Statement 50. This means, of
course, that you must already know the value of pi, since the conversion fac
tor is 360 degrees divided by 2 pi.

Setting this flaw aside, it is interesting to note how quickly this program
converges on the value of pi compared to the preceding one. That is because
this one converges geometrically rather than arithmetically.

Can you figure out a geometric convergence to the value of pi that does not
require that you know it (or a conversion factor) before you start?

B8cg?iEJ-,'IN8CRIBei) CIRCU
3 0 N = 6
4 0 N = 2*N
5Q X=360^<:N*57. 29578>
S^oE1?JNT „N*S IN<X >#CDS <X).'2 ,N
70 GOTO 40

C [INVERSE D N P I
HIT 'FCTN/'4' TD HALT

INSCRIBED _ CIRCUMSCRIBED
2.598076193 3.46410158
3"?22S212?Z 3.215390281
3.105328515 3.159659915
3.132628537 3.146086188
3.139350176 3.142714573
2- MI921??4 3- 141873023
3.141452446 3.14166272
3.14155 7581 3.14161015
3.141583865 3.141597008
3.141590437 3.141593722
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Convergence on Pi Revisited

In answer to the question posed in the last paragraph of the preceding sec
tion, here is a way to converge on pi without knowing its value beforehand.

As in the previous program, the basic approach is to add up the length of
the sides on an inscribed polygon and divide by 2r to obtain a value for pi.
The program starts with a square (four sides) and doubles the number of sides
each time. If the old side length is S, then the length of S' of a side of a new
polygon with twice as many sides is obtained by applying the Pythagorean
theorem. In particular,

X2 + (S/2)2 = R2

Thus,
(R-X)2 + (S/2)2 = (S')2

S' = \Z(R-s/W^~(S/2)2)2 + (S/2)2"
It is easy to reduce this formula algebraically, but accuracy suffers if this is

done. Also, you will find that S*S is slightly more accurate than St2.
Unfortunately, striving for maximum accuracy is somewhat moot on a

computer that does not have double precision arithmetic. Notice that ac
curacy does not improve with more than8192sides and, indeed, as numbers in
the calculations start to exceed the capacity of the computer, the accuracy
starts to deteriorate badly.

There is yet another method to compute pi by convergence. It uses discov
eries of Gregory and Euler. Gregory discovered the formula for arctangent:

Arctan x = x - x3/3 + x5/5 - x7/7 + ...
Euler came up with a rather interesting formula for pi:

pi = 4 (arctan (l/2 ) + arctan (%))
See if you can combine these two formulas to calculate pi. If you are very

clever, you can do your calculation to yield far more than the seven decimal
place accuracy obtained by the programs presented here so far.

Center
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10
H".
2 0

PRINT "CONVERSE ON PI WIT
"INSCRIBED POLYGONS" i " "
PRINT "WHEN PRDGRRM BREAK
TYPE"! '* 'CDN J TO CONTINUE"

"SUES", "PERIMETER"

> R U H
CONVERGE ON PI WITH
INSCRIBED POLYGONS

W HEN
'CON

PROGRAM BREAKS,
TO CONTINUE

TYPE

SIDES
4
8
16
32
64
128
256
512
1024
2048
4096
8192
16384

* BREAKPOINT

> C 0 N
3 2
65
13
26
52
10
20
41
83
16
33
67
13
2 6
53

768
53 6
107
214
428
485
971
943
836
777
554
108
421
843
687

76
52
04
08
216
432
864
7728
5456
0912

#* DONE **

PERIMETER
2 . 828427125
3. 061467459

121445152
3. 136548491
?• 14 0 3 3 115 7
3. 141277251
3. 141513801
o
O i 14157294
3. 141587725
3. 141591422
3. 14 1592 346
•-* 141592577

141592634

fiT 1LOO

q . 141592649
3 '. 141592652
3 .. 141592653
o' . 141592654
3 , 141592654
•T» . 141592654
3". 141592654
3 .14 15 9 2 6 5 4
O . 141592654
3 . 141592654
!•! , 141592654
3!. 14 1592654
3. 141592654
3. 141592654
3. 141592654
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Length of Any Curve

The previous programs have demonstrated how it is possible to compute a
very accurate value of pi by adding together the length of the sides of a poly
gon as it approaches a circle and dividing by 2r.

Using a similar approach, it should be possible to inscribe a polygon, or
portions ofa polygon, inside any regular curve and thus determine the length
of the curve. Thisprogram approximates the length ofanycurve as defined in
Statement 110 by dividing it into an increasing number of subintervals and
computing the sum of the secants (a straight line that cuts a curve at two or
more points).

To run the program, you must enter the formula or equation describing
your curve in Statement 110 in the form:

DEF FNA(X) = Any function of X

You then type RUN and enter the end pointsof the curve you want to use
in your calculation. These points are entered in the form of the abscissa,
which means the horizontal (or y) coordinate of the point.

The program is written to sum the successive secant lengths and to cal
culate the percent of change in each summation compared to the preceding
one. The sample run uses the function 2x3 + 3x2 -2x +3. Note the substan
tial improvements in the length calculation as the number of intervals in
creases from 2 to 16, but the rather slight improvements beyond 16.

Try this program with different curves and functions. It might help to plot
the function first (remember the program to do that?) and then compute its
length. Is this method of length calculation more accurate for a function with
no changes in direction of the curve within the interval selected or for a func
tion with one or more changes? Why?
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10
20
ON
30
END

T ) " J
40 I
50 P

60 P
CHAN
70 P
LENG
80 P
90 S
100
1 10
*X + 3
120
130
140
150
160
P+I*
170
180
190
200
; "NO
210
22 0
23 0
5 P5
240
250

RINT
RINT
N " s "
RINT
PTS

NPUT
RINT
PERC
RINT
6E I
RINT
TH"
RINT
1=0
FDR
DEF

E = 2A
H=<Q
S = 0
FDR
L = SQ
H> >•*•
S = S +
NEXT
IF S
PRIN
PRE

GOTO
P5= <
PRIN

S1 = S
NEXT

"CURVE LENGTHS"s" "
"DEFINE YOUR FUNCTI

LINE 110 " : s
"ENTER ABSCISSAS OF

" s '«< SMALLER ONE FIRS

P, Q
ii i. . •• N D m

ENT"
"SUBIN-

N"
"TERVALS

DF SUM

SECANT

LENGTHS

OF

N=l
FNA

<N-
-P>

1 = 0

R( <
2 + H
L

I
1 >0
T E
V V
24

CAB
T E

TO 9
<X> = 2*X"-3 + 3*X*-2-2

n
TD E-l

F N A < P + I * H + H > - F N A <
#H>

N

THEN 220
5 TAB<5> 5S5 TfiB<18>
AL"
0
S < S 1 - 3 >> ••' S 1 > * I 0 0
5 TftBC5>}SiTAB<17>

CURVE LENGTHS

HJR FUNCTION INDEFIN
LINE

ENTER
<SMAL

NO. D
S U B I N
TERVA

1
2
4
8

16

32

64

E VQi
110

ABS
LER

F S
S

LS L

525.
525.
529.
531 .

531 .

532.

5 32.

CISSAS
ONE PI

UM OF
ECANT
ENGTHS

0466646
158262
652247
0171331

9642557

016565

041678

OF END
RST>? -1

PERCE
CHANG
LENGT

PTS
, 6

NT
E IN
H

V VRL
47633
91718

47669

00797

33641

02447

NO PRE
.02125
.85573

.25769

.17836

.00983

.00472
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Converge on a Square Root

Since most square roots are irrational, methods used to calculate them usu
ally involve successive approximations. Although you can simply call up the
square root function in Basic or on many pocket calculators, it is interesting
to explore various methods of calculating square roots without these built-in
functions. After all, these built-in functions are nothing more than successive
approximation routines already installed in the machine.

Obviously, a square root is the inverse of the operation of squaring a num
ber. All of the methods of calculating square roots use this fact, but the way
in which it is employed is quite different in various calculators and
computers.

The program here calculates an upper and lower limit for the square root
of a number and, by successive approximations, pinches the root to within a
smaller and smaller interval until it reaches the desired level of accuracy.

The starting value for the lower limit is 0 and for the upper limit the num
ber, Z, whose square root is sought. The program then divides this interval
into ten steps by simply dividing the difference between the numbers by 10.
The variable I is increased from the lower limit to the upper one by the value
of the step, S. At any point, if I squared becomes greater than Z, a new upper
limit is set to I and a new lower limit is set to I - S.

This method converges very quickly and adds approximately one decimal
place of accuracy with each pass beyond the third. What happens when you
enter into the program a number that has an exact square root such as 25 or
49? Why?

Another approach to calculating square roots by successive approxima
tions is to start with a trial root, X. If X * X is less than the original number
N, then increase the trial value by a 0.1. If X * X is greater than N, return to
the previous value. This is the first digit of the root. Now, start advancingby
0.01. Continuing in this way, one digit is developed at a time until the desired
precision is reached.

This method is quite suitable and fast for square roots of numbers less than
1. A good first trial root value is 0.1. But is it suitable for larger numbers?
How should a starting trial value be determined? In this method, especially
for numbers greater than 10, the initialtrial value for the root matters a great
deal in determining the length of time it will take for the calculation to con
verge. Write a program using this method and compare the speed and ac
curacy with the program in the book.
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10 PRINT "CALCULATE SQUARE R
a 0 T S " : " "
20 PRINT "SET ACCURACY IN LI
NE 40"
30 INPUT "YQUR NUMBER ="s2
40 E = .00 0 01
50 PRINT ' 'LOWER LIMIT":-"
UPPER LIMIT"
60 A = 0
70 B = Z
SO S=<B-A>'"10

100IF flBS<fl*B-ZXE THEN 190
••- FOR I=A TD B STEP S

IF Z<I*I THEN 160
NEXT I

1 10
120
130
1 40
150
160
170
180
190

B=B*10„
GOTO SO
B=I
A=I-S
SOTO SO
PRINT "•."ACCURACY LIMI

200EPRINT""AVERAGE VALUE ="J
CA+B>^2

•RUN
CALCULATE SQUARE ROOTS

SET ACCURACY IN LINE 40
YOUR NUMBER =3

LOWER LIMIT
0

1.7319

UPPER LIMIT
3
1 . 8
1 . 74
1 .734„
1 .7322

ACCURACY LIMIT REACHED
AVERAGE VALUE = 1.73205

** DONE **

•R U N
CALCULATE SQUARE ROOTS

SET ACCURACY IN LINE 40
YOUR NUMBER =54

LOWER
0

LIMIT

5
7
7
7
7
7
7
7

4
0 2
344
344
3 4 832
348428
3484658
34846904

LIMITUPPER
54
10. 8
7. 56
7
7

398
3494,
3 4 8 8 6-
348482
3484712
34846958

ACCURACY LIMIT REACHED
AVERAGE VALUE = 7.3484fa931

** DONE **
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5
Compounding

As with successive approximations and recursion, compounding requires
many repetitive calculations. Some compound interest and growth situations
canbe represented by a formula, but for many problems, solving by repetitive
calculations is an excellent approach.

There is nothing magical about compounding; you generally start with an
initial amount of money, number of animals, etc. Thisquantity thengrows or
diminishes by a certain percentageat set intervals. The new amount is the old
amount increased or decreased by this percentage. Repeat this calculation
over and over again, and you have solved the problem.

Five different types of problems which involve compounding of some sort
are described in this chapter. Try the extra problems that follow some of the
programs; you may be surprised at the results.
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Indians and Interest

Here is a simple compound interest problem that produces an astonishing
answer. The problem has to do with the sale of Manhattan Island to the
Dutch for approximately $24 worth of trinkets and beads.

If the $24 that the Indians received in 1626 had been deposited in a bank
paying 5-3/4% interest compounded annually, how much would it amount to
in 1983?

The program here solves this little problem by making use of the formula
to calculate compound interest. In particular, if P dollars are invested at an
interest rate of R (expressed as a decimal) and compounded N times, then the
total amount A is given by the formula:

A = P(l + R)N

How much was gained in 1983 alone? How much was gained in the decade
from 1974 to 1983?You can change the value of N in Statement 30 to get the
answers to these questions. But a better way might be to enter the ending year
with an input statement.

Can you read a number expressed in the E (exponential format)? In a more
conventional format, the number is $11,176,500,000 or $11.2 billion.

There are many other ways you can improve the program and make it
more suitable for general purpose compound interest calculations. Modify it
to accept any starting and ending year, any rate of interest, and any starting
principal amount.

The problem as stated is somewhat unrealistic since banks were not paying
interest rates of 5-3/4% from 1626 to 1983. Change the program to calculate
the total amount based on the following interest rates:

Years Interest Rate

1626-1830 1.5%

1831-1870 2.0%

1871-1910 3.0%

1911-1921 3.5%

1922-1929 6.5%

1930-1940 2.3%

1941-1945 3.5%

1946-1960 5.3%

1961-1980 6.5%

1981-1983 9.5%
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10 P=2 4
20 R=. 05 75
30 N=1983-1626
4 0 R = P * < < 1 + R)aH >

58JB1»SnS^-HSe!?Idw?Jc?6J
AD BEEN""""' "HflTTftN ISLAND H
60 PRINT "INVESTED AT 5 75V,

-RUN
IF THE $24 WHI
RECEIVED IN 16
HATTAN ISLAND
INVESTED AT 5.
IT WOULD HAVE
S 1.11765E+10

* * DONE **

(\ *K
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Systematic Savings

In the previous program, compound interest was calculated by means of a
formula well known to bankers, money lenders and real estate agents. How
ever, if you did not know the formula, how would you calculate interest on
money in a savings account by hand or with a calculator?

You would probably begin by multiplying the principal amount P by the
interest rate R and addingthat amount to the original principal at the start of
the second year. Doing that for all the years the money is in the bank will
yielda final amount. Why not writea program to perform the calculations in
this manner rather than use a formula? Here is such a program.

It is set up for an initial principal amount of 100(Statement 50), an interest
rate of 10% (R = 0.1 in Statement 60) and ten years (N = 10 in Statement
70). Naturally these values could be read in using input statements. The
clever calculation in Statement 100 rounds off the amount to two decimal

places (dollars and cents).
In contrast with the program in the previous section, this one does not use

a compound interest formula, but simply adds the interest each year to the
growing principal amount in Statement 90.

10 PRINT "CALCULATES INTERES
T ON $100" :" INVESTED AT 10 5j
FOR 10 Y R S " : " J'
20 PRINT "AT END","CURRENT"
30 PRINT "DP YEAR">"BALANCE"
40 PRINT
50 P=100
60 R=. 1
7 0 N= 1 0
8 0 FDR 1=1 TD N
90 P = P + P * R
100 PRINT I , INT<P*100+. 3 >-" 1 0
0
110 NEXT I

CALCULATES INTEREST DN $100
INVESTED AT 10* FOR 10 YRS

AT END CURRENT
DF YEAR BALANCE

1 1 10
2 121
3 133. 1
4 146.4 1
5 161.05
6 177.16
7 194.87
8 214.36
9 235.79
10 259.37
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Now, how could this program be modified to allow for aplan of systematic
saving? In other words, instead of letting the $100 lie around all lonely while
it is compounding, each year you add another $100 to it. With this program,
making the modification for systematic savings is easy: Statement 105 is
added to add the new deposit each year to the ever growing principal.

10PRINT "CALCULATES INTERES
Juiy^igS"5 " INVESTED flT lol
EVERY YEAR":"FDR 10 YEARS":"

ggRP*INT "AT END C
ALANCE"1 "DF YEFtR IWVESTEB E
4 0 PRINT
5 0 P=iOO
55 C=100
60 R=. 1
7 0 N=10

105P=P+C
.110 NEXT I
;>
>

'!B^,riiESTly!iRi?iR?MAgo
FOR 10 YEARS c'&ki rt hk

OP IpSp Tuut-Tct. CURRENTUF- ftflR INVESTED BALANCE

k 4,00 no
S I'rS 231
i 3 00 364.1i 400 510.51
g 5 00 671.5 6
% |00 8 43.72
8 ZCS 1043.59
fo 188 im-n
10 1000 1753." 12

* * DONE * *
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In an effort to attract depositors, many banks over the last 20 years have
started offering savings and investment accounts in which the deposits are
compounded more often than annually. In the early 50's, many banks went to
quarterly compounding; in the late 50's, to daily; and in the early 60's, some
"competitive" S&L's went to continuous compounding.

How much does more frequent compounding really mean? Modify either
of the two programs to compute the interest for more frequent compounding.
What is the difference in interest for one year for annual, quarterly, monthly,
daily, and continuous (every second) compounding on a principal amount of
$1000 invested at 8%? How about for ten years?

Incidentally, if you want to use the formula method in the previous section
for this calculation, the formula for P principal invested at R rate com
pounded N times per year is:

A = P(l 4- R/N)N
Try this problem which uses the same principles of compounding. Con

sumer prices rose an average of 8.8% in 1980. While the government keeps
trying to bring inflation under control, they don't seem to be meeting with
much success. Assuming that prices continue to go up this much (8.8%) ev
ery year, how much will a $6000 economy car (1980 dollars) cost in the year
2000? How much will it cost when you are 65 years old?
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Systematic Savings Revisited

Using the formula for compound interest and systematic savings, this pro
gram will calculate the amount accumulated after a given period of time.

When you run the program, it will ask how much you wish to save each
month, the number of compounding periods in a year, the interest rate, and
the length of time you wish to continue your systematic savings program. The
program will then calculate the total amount at the end of that period.

From the preceding programs, you should be able to see that a systematic
savings program is a very effective way to accumulate a nest egg for the
future.

10 PRINT "CALCULATES INTERES
T AND":"BALANCE FDR A SYSTEM
ATIC": "SAVINGS PROGRAM":" "
20 INPUT "MONTHLY DEPOSIT =u
* A

30 INPUT " COMPOUNDING PERIOD
S y Y R = " : B
40 INPUT "INTEREST RATE <XK.
V •/ S «• H i B!*•• '"• J — • K
50 R-R'-lOO
60 INPUT "NUMBER OF YEARS ="
i N
70 PRINT
80 PRINT "AT END 0
URRENT "
90 PRINT "DF YEAR INVESTED E
A L A N C E
100 PRINT
110 C=12*A
120 P=12*A
130 FDR 1=1 TO N
14 0 P = P * < 1 + R / P.)' '- B
150 PRINT ISTflBCli)Sl*CsTRB<
20>MNT<P*100+.5)/100
1 fc> 0 P = P + C
170 NEXT I

>RUN
CALCULATES INTEREST AND
BALANCE FOR A SYSTEMATIC
SAVINGS PRDGRAM

MONTHLY DEPOSIT =10
COMPOUNDING PERIDDS^YR =12
INTEREST RATE C X X . X V. ) =15
NUMBER OF YEARS =2

AT END CURRENT
OF YEAR INVESTED BALANCE

1 120 139.29
2 240 300.97

* * DONE **
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CALCULATES INTEREST AND
BALANCE FOR A SYSTEMATIC
SAVINGS PROGRAM

MONTHLY DEPDSIT =10 Iin
COMPOUNDING PERIOBS/'YR =1
INTEREST RATECXX.X H> =3
NUMBER OF YEARS =8

AT END CURRENT
OF YEAR INVESTED BALANCE

1
2
3
4
5
6
•7
I

8

* * DONE * *

CALCULATES INTEREST AND
BALANCE FOR A SYSTEMATIC
SAVINGS PROGRAM

MONTHLY DEPOSIT =10
COMPOUNDING PERIODS/YR =365
INTEREST RATE <XX.X K> =8.5
NUMBER OF YEARS =8

AT END CURRENT
OF YEAR INVESTED BALANCE

1 120 130.64
2 2 4 0 2 7 2.88
3 3 60 427.7 3
4 480 596.32
5 6 00 7 7 9.36
6 7 20 9 7 9.63
7 840 1197.23
8 960 1434.08

* * DONE * *

Try to combine the things that you have learned from the programs in
these sections to write a completely generalized program for systematic sav
ings. It should accept the following information as input:

• Initial deposit
• Frequency of periodic deposits
• Amount of each deposit
• Interest rate

• Interest compounding frequency
• Length of time of savings program
Your program should produce output in tabular form showing years (or

other time periods), amount invested without interest, total amount with in
terest, and the interest alone.
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1 20 130.2
240 271 .47
360 424.74
4 80 5 91.04
6 00 771 .48
720 9 67.2 6
840 1179.63
960 1410.15



Loan Payments

Although saving money in asystematic way is anoble goal, many people
frequently find themselves talking to adifferent bank officer, namely the one
in charge of loans.

This program will calculate the payments for a loan for a period of one
year or longer. The program asks you to enter the key facets of the loan in
question: amount borrowed, annual rate of interest, interval between pay
ments and term of the loan in years.

The sample run shows arelatively short-term loan (2 years) of $3000 at a
bargain basement interest rate of 8%. The monthly payment of the loan is
computed to be $135.68 and the total interest $256.34. Why is the total in
terest not $240 (8% of $3000)? Instead it is 8.54% Is this a mistake in the
program?

Try the program for some longer term loans at real world interest rates.
For example, run it for an automobile loan of$8000 at 12% over a 5-year
period. Perhaps you can see from this that systematically saving your money
and paying cash for an item makes more sense than time payments.

Run the program to calculate the mortgage payments on a$150,000 house
with a$40,000 down payment. Try it with a 16% interest rate stretched over
a 30-year period. Ouch! Look at all that interest!

At the heart of this program are Statements 150-180. Can you see what is
happening in these calculations?

1KBgRCgNg5ViKhnIESNpnYNENTS
9 K? k-1 S 5.- ? n B5 9 y ED =125000

BS?Pu¥FnkD?SB^E?!^ER2?>OR TOTALS ONLY ENTER 2>? 2
181 f!L INTEREST = 414153 ,£1

* * DONE * *
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10 PI
P A VI

DAN" : " "
2 0 INPUT

3 0
X
4 0
mos
5 0
s> =
60 P
NTER
ER 2

v.

f'O i
80 P
90 I
too
MONT
1 10
B<22
120
DUE
130
PER
40
50
60
170
18 0
190
200
210
22 0
230
240
250
260
270
2 3 0
290
300
3 10
320
330
340
J Ds •
350
360
370
33 0
? Dl
3 90
= " 5 i.
400
410
420
J TAB
430
0
440
450
460
8'IE
470

'RINT
'MENTi

NPUT
_. ir •

NPUT
) ="
NPUT
" : V
RINT

1 > "
> " ;
NPUT
RINT
F V =
PRIN
H IN
PRIN
> 5 "P
PRIN
REPA
PRIN
END
PRIN
Z=<Y
K=C I
E = A*
E=IN
C = A
F = 0
D1=0
T1=0
T1=T
IF T
B = T1
C = C-
H = C*
F = E-
C=IN
D-IN
F-IN
D1 = D
IF V
PRIN
AB<2
GOTO
IF V
D1 = I
PRIN

PROGRAM CALCULATES
: "ON A LONG-TERM L

AMOUNT BORROWED ="

INTEREST RATE <XN.

PAYMENT INTERVAL <

TERM OF LDAN <YERR

I

: P

OUTPUT AS
•R TOTALS

TABLE CE
ONLY E N T

2
T
TE
T
RN
T
ID
T
PE
T
*1
«<

TC

THEN 150
" " s " T A B L E
R V A L S " : " "
T A B < 6 ) 5 " P R N C P L " 5 T A
C P L "
"PER- AT BES

I N " 5 P ?

" IOD
R"

OF PER

2) /P
P^12> J^'lOO
< 1 - 1 >•' < 1 + K > * Z >
E*100+.5).'100

INT

END

1 +
1 > THEN 360

1 +
= 2
T
2>
2

= 1
NT
T

C*10
D*10
F*10
D
THE

BS TA
5 F
3 0
THE

<D1*
"TOT

0 + . 5 > • 1 0 0
0+.5)/-100
0+.5)^100

N 230

BC5) !C5 TAB C14 )

N 410
100+.5>/100
AL INTEREST -"

PRINT "PRINCIPAL REPAID

30

"TOT

< <D1

GOTO
PRIN
PRIN
< 2 2 >
E5=I

4
T
T
; fl
NT

5 s
NT
T

E6 = E
E6-I
PRIN

PRIN

AL"5 TAB<14 >|Bl

+A>*10 0+.5)^10

< < Y * 1 2 > • P >
C 1 00*E6 + .5>/100
"MONTHLY PAYMENT =

"AND TOTALS $"SE5
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>RUN
PROGRAM CALCULATES PAYMENTS
ON A LONG-TERM LOAN

AMOUNT BORROWED =3000
INTEREST RATE CXX.X * > =8
PAYMENT INTERVAL KM0S.> =1
TERM QF LOAN (YEARS) =2
OUTPUT AS TABLE 'CENTER 1)
DR TOTALS ONLY ENTER 2>? 2

TOTAL INTEREREST = 256.34
PRINCIPAL REPAID = 3000
MONTHLY PAYMENT =$ 135.68
AND TOTALS S 3256.34

* * DONE * *

'PROGRAM CALCULATES PAYMENTS
ON A LONG-TERM LOAN

AMOUNT BORROWED =8000
INTEREST RATE CXX.X \) =13
PAYMENT INTERVAL <MDS.> =3
TERM OF LOAN (YEARS) =5
OUTPUT AS TABLE <ENTER 1)
OR TOTALS ONLY ENTER 2>? 1

TABLE IN 3 MONTH INTERVALS

P R N C P L PRNCPL
PER AT BEG INT DUE REPAID
IOD DF PER END PER END PER

1 8000 260 2 9 0.23
2 7709.77 250.57 299.66

_ _

209.676 6451.41 3 4 0.56
7 6110.35 198.6 3 5 1.63
8 5 7 5 9.22 187. 17 3 6 3.06
9 5396. 1 6 17 5.38 374.85
10 5 0 21.31 163. 19 387.04
1 1 4 6 3 4.27 150.61 3 9 9.62
12 4234.65 137.63 412.6
13 3 8 2 2.05 124.22 4 2 6.01
14 3396.04 110.37 439.86
15 2956.18 96 . OS 454. 15
}6 2 50 2.0 3 8 1.32 4 6 8.91
17 2033.12 66. 08 484. 15
18 154 8.9 7 50 . 34 4 9 9.89
19 1049.03 34. 1 516.13
20 532.95 17.32 532.91

TDTflL 3004.64
8 0 0 0

MONTHLY PAYMENT = $ 550.23
RND TOTALS $ 11004.64

* * BDNE * *
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Interest on Credit Purchases

All too frequently, the rateof interest to be charged on a loan or credit pur
chase is hidden in the small type. After all, the bank or car dealer or finance
company wants to convince you that you can afford that new car or home
improvement or whatever.

This program calculates the interest rate on a loan given the principal value
of the loan, the number of payments, and the amount per payment. To make
things eveneasier, the program willaccept the cash purchase price of the arti
cle and the down payment and automatically compute the principal value of
the loan.

The sample run shows a rather unrealistic loan for an item costing $88.99.
The down payment was $10.00 and the loan is over a period of 18 months;
each monthly payment is $4.85. The program run shows that the actual in
terest rate is a modest 5.69%.

Now try the program with a more realistic loan. A termite company in
New Jersey advertises a total treatment for your house for only $200; just
$29.95 down and 24 monthly payments of $11.95 per month. Is this the bar
gain that it seems? What is the annual rate of interest?

£> <5)

- s
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10 P
INT

URCH
20 I
3 0 I
4 0 I

— U m

50 i

R
E
ft
N
H
H
H
N
S
N.
&

60

70 E
80 I
90 M
100
. 5 > s
1 10
IS"

I

INT
RES'
SES
PUT
PUT
PUT

PUT

PUT

R*N
B-C
N / <
= IN
0 0
RIN
TS "

PROGRAM CALCULATES
:"RATE DN CREDIT P

PRICE DP ITEM =":C
DOWN PAYMENT ="sD
NUMBER QF PAYMENTS

PAYMENTS PER MONTH

AMOUNT PER PAYMEMT

+ D

S*
T<

T
y."

12>
100*<I*100^<B*M>>+

" "i" INTEREST RATE

-RUN
PROGRAM
RATE ON

CALCULATES INTEREST
CREDIT PURCHASES

PRICE DF ITEM =88.99
DOWN PAYMENT =10
NUMBER OF PAYMENTS =18
PAYMENTS PER MONTH =1
AMOUNT PER PAYMENT =4.85

INTEREST RATE

* * DONE * *

IS 5.69
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Population Growth

So far, all the compounding problems in this chapter have involved
money—interest, savings, and loans. But many fascinating compounding
problems do not involve money. Consider the following problem.

In 1960, the population figures for the United States and Mexico were 180
million and 85 million respectively. The annual population growth rate for
the United States was 1.23% and for Mexico 2.23%. If these growth rates
remain steady, in some distant year the population of Mexico will exceed that
of the United States. In what year will this occur?

The program uses the method of accumulating the principal amount rather
than a formula, and applies it to both populations. The sample run reveals
that the population of Mexico will overtake that of the U.S. in the not too
distant future.

10 U=1800000GO
20 M=35000000
30 Rial.0123
40 R2=l.0223
50 Y=1960
60 U=U*R1
70 M»M*R2
8 0 Y=Y+1
90 IF M<U THEN 60
100 PRINT "YEAR = ll 5 Y 5 " POP
U L fl T I • N " : " "
110 PRINT " U.S. fl , " , U
120 PRINT "MEXICO" > M

>

> R U N
YEAR = 2037 POPULATION

U.S.fl. 461406536.3
MEXICO 464 46 46 9 3.9

But what if the Mexican people were diligently trying to bring their
increasing population under control and their annual growth rate was
increasing by only 0.001% per year, compared to the increase of the U.S.
growth rate of 0.01% per year. If that were the case, would the population of
Mexico ever exceed that of the U.S.?

Insert Statements 60, 70, and 85 into the first program, run it and find out
the answer to the question.

>60 U = U*C i•01*R1>
>70 M*=N*<: 1 . 001*R2>
>S5 IF Y>9999 THEN 100
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Going back to the first program, run it with the population data from the
U.S. (180 million) and California (15.7 million) from 1960. At that time, the
annual growth rates were 1.23% and 3.7% respectively. Running the pro
gram will indicate the year that the population of California will exceed that
of the United States. This, of course, is nonsense. Where is the discrepancy?

This program might make more senseif it were restated to ask in what year
the population of California would exceed that of the remainder of the U.S., if
ever?

Compounding can also be used to solve other kinds of population growth
problems. Consider the bristleworm. The bristleworm can reproduce by split
ting itself into 24 segments, each of which grows a new head and tail. What is
the maximum number of bristleworms that could be obtained in this fashion,
starting with only one worm, after ten splittings? Assuming a splitting occurs
every 22 days, how many offspring will one worm produce in a year? When
will the earth be overrun with bristleworms?

Here is another problem for which the principle of compounding is useful.
It takes nature about 500 years to produce one inch of topsoil. Many years
ago, the United States had an average depth of almost nine inches of this
gooddirt, but as of 1975, the country wasdown to about six inches. This type
of soil is necessary, of course, for growing food.

Careless management of our soilcauses about 1% per year to erode away;
it is then lost forever. Once soil depth reaches three inches or less, it is impos
sible to grow cropson a large scale. Write a program to calculate the year in
which the U.S. will have less the 3" of topsoil, assuming that it continues to
erode away at 1% per year.

Will you be alive then? Will your children be alive? Will anyone be alive?

J!^.« .-
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6
Probability

Statistics and probability are subjects that bring up all kinds of images.
Some people who have not had a pleasant time in a required college statistics
course keep as far away from the subject as possible. To other people, statis
tics is something with which devious manufacturers can mislead you about
their products.

Not long ago, one foreign automobile manufacturer boasted that 90% of
their cars sold in the United States in the last seven years were still on the
road. This sounds like excellent reliability. But consider the fact that this
manufacturer was rapidly expanding in the U.S. market and 65% of the cars
they had sold in the U.S. had been sold in just the previous two years. You
would expect that all of these would still be running.

If the manufacturer had sold 10% of their 7-year volume in Years 1 to 3,
and most of these cars were not running, then the advertising claim loses
much of its meaning.

When approached in a logical, step-by-step manner, statistics and probabil
ity are not difficult. In fact, they can be a great deal of fun.

Some of the programs use a formula while others simulate the event in
which we are interested. The results are the same, but you may find that the
simulations help you to understand exactly what is happening.
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Pascal's Triangle—Calculated

Pascal's Triangle is quite fascinating. As you can see from the portion of
one reproduced below, each row is symmetrical. Each row also contains the
coefficients for a binomial expansion. The sums across the ascending diag
onals form the Fibonacci sequence. The sums across the rows are all powers
oftwo. Each row corresponds to the digits ofa power of11. Every element is
the sum of the two above it. And, in case you care, all the elements in it are
identities in combinatorial theory.

The ways this marvelous triangle can be generated are as varied and in
teresting as its properties, though perhaps more difficult tofigure out. Here is
one way to use a computer to generate the triangle.

Any element can be found be adding together the two elements immedi
ately above it. The program uses this principle to produce a triangle eight lev
els deep. Lines 10-30 set the rightmost diagonal to 1. Each element is stored
in the two-dimensional variable P(R,C) with R denoting the row and C
denoting the "column." The variable T (Line 50) simply leaves some blank
spaces so the output resembles a triangle. The crux of the calculation is in
Line 70 in which the value of each new element is calculated.

There is another interesting way to calculate Pascal's Triangle in even
fewer statements than the program here. It generates the triangle one element
at a time and does not use any arrays ortwo-dimensional variables. Can you
figure out how to write such a program?
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C-l )

10 FDR C=l TO 9
20 P(C,C)=1
3 0 NEXT C
40 FDR R=l TO 9
50 T=17-R*2
6 0 FDR C=2 TD R+1
70 P < R + 1 , C > = P< RjO+PCRj
30 IF P <R,C >-0 THEN 110
9 0 PRINT TfiBCT >; P < R , C> ?
100 T = T + 4
1 10 NEXT C
120 PRINT
130 PRINT
140 NEXT R

>RUN

1

1 1

1 2 1

13 3 1

14 6 4 1

1 5 10 10 5 1

1 6 15 20 15 6 1

1 7 21 35 35 21 7 1

* * Ii D N E * *
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Pascal's Triangle—by Probability

This program simulates the dropping of balls through a triangular array
shown below. At each level, a ball is equally likely to fall either to the left or
right. At the bottom of the array acup is placed at each end point; these cups
collect the balls. After each group of balls has been dropped, the number of
balls in each cup is tallied and displayed.

u u u u u u
i°
B Y "
20
3 0
II • If

35k
LS"

2°.
5 0
60
7 0
8 0
9 0
100

} 1°
120
13 0
140
150

p?iyi« "PASCAL'S TRIANGLE
*"PRDBRBILITY"i" "
INPUT "BALLS T Q DROP = " :M
INPUT "NUMBER QF LEVELS =

PRINT "
• II II

N = iFDR
T = 0
FDR L=l TD K
IF RND>.5 THEN 90

NEXT L
BCT+n = B(T+l) + l
NEXT N
FDR L=l TD K + l
PRINT L,B<L>
B <. L > = 0
NEXT L

": "POSITION", "B A L

TD M

PASCAL'S TRIANGLE BY
PRDBABILITY

BALLS TD DRDP =1000
NUMBER DF LEVELS =2

POSITION BALLS

1
2
3

234
51S
248
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^PASCAL'S TRIANGLE BY
PROBABILITY

BALLS TD DROP =1000
NUMBER DF LEVELS =4

POSITION BALLS

1 51
2 229
3 40 7
4 240
5 73

* * DONE * *

The number of balls landing in the various cups at each level, when re
duced to the lowest common denominator, should approximate the numbers
in Pascal's Triangle. Do you know why they should?

Try a few runs of the program with a different number of balls. Do the
numbers obtained really approximate those in Pascal's Triangle? If, at each
dividing point in the array, every other ball went in the opposite direction,
then Pascal's Triangle would be produced. Try running the program with 4
balls at Level 2; with 8 balls at Level 3; and with 16 balls at Level 4. Do your
results look like those of the previous program which calculated the triangle?
Does the approximation come closer as the number of balls is increased?

How can you determine how close your results from this program are to
the exact value of Pascal's Triangle? One way is to take the number of balls
that dropped into each cup on a given level and divide that by the total num
ber of balls divided by the theoretical sum of the row. So, in the sample run at
Level 4, you would divide the balls in each cup by 62.5 (1000/16). You then
compare that to the "correct" number and compute the percent difference.

Here is the result of this procedure for Level 4 (actually the fifth row) in
the sample run:

Cup Balls +62.5 Correct Deviation

1 51 0.82 1 18.00%

2 229 3.66 4 8.50%

3 407 6.51 6 8.50%

4 240 3.84 4 4.00%

5 73 1.17 1 16.80%

Why arethe outsidecups"ofF' by a greater percentage than those closer to
the center? Does this also happen on other levels with different numbers of
balls?
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Common Birthdays

Here is an interesting little problem in probability. In agroup often people
selected at random, what is the probability that any of them will share the
same birthday? How about a group of 20 people? Of 50 people?

Conversely, how many people would you need in a group such that there is
a 50% probability that at least two of them have the same birthday? How
many people would be needed for a 90% probability of an overlap?

Try toanswer these questions, either byguess or bycalculation, before you
look at the output from the program.

This program provides a painless introduction to the world of statistics.
The calculation is actually quite trivial. The probability that any person in a
group has abirthday on January 1is 1/365. If our group has only two people
in it, the probability that both of them have abirthday on January 1is 1/365
times 1/365, or avery small number indeed. The probability that they have a
common birthday is 365 times the very small number just obtained, or about
0.27%.

However, if there are three people in the group, the probability goes up
slightly. Call the three people Betsy, Ken, and Larry. From the reasoning
above, we know that there is a 0.27% probability that Betsy and Ken have
the same birthday; also a 0.27 % probability that Betsy and Larry share a
birthday; and finally, a 0.27% chance that Larry and Ken have a common
birthday. Hence, the total probability for a group of three people is three
times the probability for just two people.

A group of four increases the probability over that of two people by a fac
tor ofsix, five people by a factor of 10, six people by 15, seven people by 21,
and so on. There is a progression here, but the probability can also be cal
culated by the formula:

P = i 365-N
365

Can you see why this formula produces the same result as the description
in words and associated progression above?

Consider all the presidents of the United States. (How many have there
been to date?) Two ofthem, James Polk and Warren Harding, were born on
November 2. Is this to be expected given the size ofthe group?

Since birthdays can be predicted, at least statistically, it ought to be pos
sible to predict deaths as well. It is interesting too that John Adams, James
Monroe, and Thomas Jefferson all died on July 4th. Millard Fillmore and
William Taft both died on March 8. What is the probability of that set of
events?
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10 PRINT TflB(il)
Y THAT1*
2 0 PRINT "ND. DF
T TWO HAVE1' nni _
3 0 PRINT "PEOPLE
E BIRTHDAY"
4 0 Q = 3 64s3 6 5
5 0 FDR N=2 TD 4 0
60 P=100*<1=02

'PRDBABILIT

RT LEfiS

THE SAM

6U r •= I U U * v. 1 — W .•'
7 0 PRINT N5TflB(13)JlNT<P*100
+ .S^iOOi'JS'' <v ^^
- ~ ' ~ " ~ N > •' 3 6 5SO
9 0

Q-Q*<36 5-
NEXT N

> R U N

NO. DF
PEOPLE

4
5
6
7
8
9
10
1 I
12
13

30
31
32
33
34
3 5
36
37
3 8
3 9
40

PROBABILITY THAT
AT LEAST TWO HAVE
THE SAME BIRTHDAY

2 7 X
82 X
.64 X
.71 X
. 0 5 X
. b Z •'•
.43 JJ
. 4 6 y.
1.69 5S
4.11 ^.
6.7 V.
9.44 JS

70.
73,
75,
77,
79,
31 ,
83,
84,
86
87
89

63
05
33

|3!
44
22
87
41
82
12

Now it is your turn to write a program. Here is a game to be played among
your friends. You make a bet that they have similar preferences in colors.
Each person in the group puts up one penny and you, because you are so sure
of yourself (and probability), put up an amount in cents equal to the number
of people in the group. If you win, you get to keep all of the money; if your
friends win, each of them gets double his original bet, or two cents.

Then each person selects a color (from a larger list than there are people, of
course). If any two have picked the same color, you win; if all have picked
different colors, they win.

Since you would like to win, you need to know how many colors should be
on the list for different size groups to give you a better than 50-50 chance of
winning. You might like the probability to be up around 70% or so. You can
produce the necessary table with a five-line program. Go to it!
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Coins in a Pocket

The next two programs were originally written by Glenda Lappan and
M.J. Winter and appeared in Creative Computing magazine. They are marvel
ous simulations for illustrating various aspects of probability.

Coins in a Pocket is a simulation of the following situation. A newspaper
costs 5 cents. A customer has 5 pennies and a dime in his pocket and offers to
pay for his paper by letting you, the vendor, select at random two of the six
coins. If you and this customer repeat this procedure for the 20 working days
of a month, how much more or less than $1.00 (20 days x 5 cents) are you
likely to have collected?

The program below solves this little problem. The first random coin is se
lected from a group of six (Line 70 in which X = INT(RND*6)). The value
of X can be 0, 1, 2, 3, 4, or 5. If it is 0, we assume the dime was selected and a
second pick is not made, because it will surely be a penny. Thus 11 cents is
added to the running total in Line 130.

If the first coin is a penny (X = 1, 2, 3, 4, or 5) then we make a second pick
from the five remaining coins. Again, if the dime is chosen (Y = 0), 11 cents
is added to the total; otherwise 2 cents is added.

As you can see from the sample runs, after a great number of trials, the
average amount of money collected each day seems to be close to 5 cents. If
you would like to convince yourself that the answer is, in fact, 5 cents, con
sider the following. Assign a letter to each coin, A - F. Let A be the dime and
B through F be the pennies. Sinceall combinations areequally probable, here
are all the possible combinations:

AB

ACBC

AD BD CD

AE BE CE DE

AF BF CF DF EF

There are five combinations with a dime (5x11 cents) and ten combina
tions of only pennies (10 x 2 cents). Add it up and you have 55 cents plus 20
cents divided by a total of 15 combinations which equals an average value of
75/15 or 5 cents.
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18 P^St^pIoGRAM SIMULATES
TP6iB6n^BSSSiQiS»8 §tpIBH!I8
3 0
4 0
n •

50
60
70
SO

?8
11
13
14
15
16
CD

PRINT
INPUT NUMBER DF TRIALS =

N
U = 0
FDR K=l TD.N
X=INT<RND*6.:'
IF X=0 THEN 130
Y=INT<RND*6>

0 IF V=0 THEN 130
0 U=U + 2
0 GOTO 140
0 U=U+11
0 NEXT K

8 PRINT "AVERAGE VALUE DF
INS IS" JU/N5 "CENTS

PROGRAM SIMULATES TAKING TWO
COINS AT RANDOM FROM A
DIME AND 5 PENNIES

NUMBER DF TRIALS =1000

AVERAGE VALUE DF COINS IS
4.934 CENTS

** DONE **

>PROGRAM SIMULATES TAKING TWO
COINS AT RANDOM FROM H
DIME AND 5 PENNIES

NUMBER DF TRIALS =100

AVERAGE VALUE OF COINS IS
4.8 8 CENTS

* * DONE * *
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Baseball Cards

In statistics and probability, it is frequently necessary to predict the num
ber of trials on average until one is successful. For example, if you are trying
to roll a four with one die, onaverage how many tries will it take until you do
so?

Since a die has six sides, the probability of rolling any number between 1
and 6 is p = l/6. Thus, on any given roll, you have a % chance of rolling a
four and 5/6 chance of rolling something else. This failure is designated q. So
to be successful in rolling a four, we have a % chance on the first roll. On two
rolls, the probability is two trials x the probability of onefailure, then success
(2 x % xVe). On the third roll, the probability of success is three trials x the
probability of two failures followed by one success (3 x % x 5/6 x %).

Continuing this reasoning leads to the formula for the expected number of
trials to success:

E=lp + 2qxp + 3qxp + 4qxp+ ...
This series can be reduced and solved for E which leads to:

e= _L = _L
1-q p

So now the answer to the original problem can be calculated. The expected
number of trials to roll a four is 1/p = 6 tries until success.

But there is another way to approach this type of problem with the assis
tance of the computer. Consider the problem. Assume there are ten different
prizes in Crunchies cereal boxes. How many boxes ofcereal would you have
to buy to obtain the complete set? The formula above can be expanded to
solve this problem:

N N N N 11 i

For a value often, you can solve this formula by hand. However, let's say
you would like to solve this problem for baseball cards as found in packs of
bubble gum. If there are 50 cards in a complete set, how many packs ofgum
must you buy, on average, to get a complete set. Write a computer program
using the general formula above to solve for a set ofany size. The answer for
50 cards is224.96 packs ofgum; how many would you have to buy for a set of
100 cards?

There is another way of approaching this problem. This method is similar
to that used to randomly select coins outof the pocket. In this case, the ran
dom group is set equal to the total number ofcards; this value is accepted as
input in Statement 20. Each purchase is set equal to a random number be
tween 1and N (Statement 150). This card is then put into its proper place in
the collection (Statement 160). However, if there is already a card there from
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a previous purchase, we simply increment the purchase counter (Statement
190) but do not get any closer to obtaining a complete set. After each pur
chase, we test to see if the set is complete (Statement 200), otherwise we go on
buying more packs of bubble gum.

When the set is complete, the number of packs of gum are tallied up and
printed out. After a set of trials, the average is computed. This averaging
value should be reasonably close to the value obtained by the formula al
though it will take a great number of trials before the two numbers are within
1% of each other.

10 PRINT "PROGRAM SIMULATES
BUYING":"BUBBLE GUM WITH BAS

20 INPUT "CARDS. CARDS IN SE

30 IF~N<101 THEN 60
40 PRINT "SORRY, 100 IS MRXI
MUM"
5 0 GOTO 20
60 INPUT "NUMBER QF SIMULflTI
D N S = " : K
7 0 DIM C < i00 >
SO PRINT " "suTRIflL,l» "PACKS"
9 0 S = 0
100 FOR 1*1 TO K
110 D = 0
120 FOR J*l TD N
13 0 C <: J ) = 0
14 0 NEXT J
15 0 X = I N T < R N D * N > + 1
16 0 C •:: X > = C C X > + 1
17 0 IF C<X > = 1 THEN 190
130 GOTO 150
190 D = D+1
200 IF D = N THEN 220
210 GOTO 150
220 T»0
230 FDR J=l TD N
240 T«T+C<J>
250 NEXT J
260 PRINT I,T
2 7 0 S = S + T
280 NEXT I
2 9 0 PRINT "AVERAGE"?S^K

> R IJ N
PROGRAM SIMULATES BUVIKG
BUBBLE GUM WITH BASEBALL
CARDS. CARDS IN SERIES =50
NUMBER DF SIMULATIDNS =5

TRIAL PACKS
1 2 8 4
2 246
•-• 1 5 3
4 22 2
5 29 0

AVERAGE 239

* * D D N E * *
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•RUN
PRgSRAM.SIMULATES BUYING
BUBBLE GUM WITH ERSEBALL
CARDS. CARDS IN SERIES =10
NUMBER DF SIMULATIONS =10

TRIAL PACK S
1 2 3
2 14
3 28
4 27
5 1 9
6 28
7 25
8 20
9 26
10 22

AVERAGE 2 3,2

* * DONE * *

If you run this second program for a set of 100cards, it will sometimes run
for a very long time before arriving at the answer. Try it with a set of 500
cards as are used by some real bubble gum manufacturers. You can go have
your dinner while the program computes just the first value. Be sure to
change the dimension statement in Line 70 to C(500).



System Reliability

As more and more people in the world come to depend upon mechanical
and electronic devices in a myriad of different ways, it is important that these
technological devices continue to function.

Some years ago, the military came up witha measure that could be applied
to all kinds of systems, big and small, to measure reliability. It is called
"mean time between failures." What this means is the length of time, on av
erage, between breakdowns. For a tank, this may be 100 hours, while for a
spacecraft, the MTBF mustbeconsiderably longer than the planned mission.

As we saw in an earlier section, it is frequently desirable to break down a
large problem into smaller subproblems. To calculate the MTBF for a space
craft would be quite impossible. Instead, it is necessary to start with smaller
systems and build up to the whole.

Consider one of the electrical subsystems of a spacecraft. It uses five
components as shown below, two parallel systems A and B, arranged in se
ries. The parallel subsystems are said to be "redundant." This is one method
of increasing reliability since the system Will continue to work if at least one
of the components works.

A B

If the manufacturer of the components stated that each one has a 60%
probability of lasting 1000 hours, what is the chance that the entire system
will last 1000hours? Take a guess before reading on to the solution below. Is
your guess greater than 60% or less? Why?

The program below is a simulation of this system. Remember in subsystem
A, it will continue to work if any of the three components works and in B if
eitherof the two components works. However, the system will fail if all three
of the A components or both of the B components fail.

In Statement 40, the program is set up to make 500 trials of the system.
Statement 60 selects a random integer between 1 and 10 for each component
for each trial. If the value of this integeris 6 or under, the component is okay
(60% probability of working at the end of 100 hours). If it is 7, 8, 9, or 10,
this means the component has failed, and the program prints "Bad!"
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10
2 0
US
UR
30
4 0
5 0
60
70
SO
90
10
1 1
12
13
14
1"
1
1
1
1

Rfi
PR

E D
S ^ s

FD
FD
C<
IF
C <
GD

0 C
0 N
0 I

NDDMIZE
INT "PROGRAM SIMULATES
F":"CIRCUIT FDR 1000 HD

0
R I
R J

7
3
9

20
2 1
22
23
It m

J>-
C<

J>«
TD
CJ)
EXT
F C
F C
F C
RIN
DTD
F u
F C
BIN
DTD
-S +
EXT
RIN
< 10

IP 5 0 0
TD 5
< R N D * 1 0 > + 1
6 THEN 100

=1 THEN
=1 THEN
=1 THEN
BAD ! "5
0
=1 THEN
=1 THEN
BRB ! " 5
0

7 0
70
70

INT

= 1
= 1
INT
J> >
1
1 10
= 0

<i>

T "
2 2

<4 )
<5>
T "
22

1
I

T "
0 00

RELIABILITY ABOUT
*CS''500> + . 5>>'i0Q?

99 9 END

PROGRAM
C I R C U I T

BAD !
BAD !
BAD !
BAD !
BAD !
BAD !
BAD !
BAD !
BAD !
BAD !
BAD !
BAD !
BAD !
BAD !
BAD >.
BAD !
RELI

BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
ABIL

SIMULATES USE
FOR 1000 HOU R:

DF

BAH
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAH
BAD
BAH
BAD
I T V

BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
ABQI.

BAD !
BAD !
BAD!
BAD !
BAD !
BAD!
BAD !
B ft D !
BAD!
BAD !
BAD !
BAD !
BAD !
BAD !
BAD!
BAD !
T 77

BAD
BAD

BAD
BAD
BAD
§9B
BAD
EfiD
BAD
BAD
BAD
BAD
BAD
BAD
BAD
. S

! BAD !
! BAD !
! BAD !
! B A D !
! B A D !
! BAD !
! BAD !
! B ft D !
! BAD i.
! BAD !
! BRD »
! BAD !
IBRD!
! BAD !
IBRD!

* * D D N E * *

Statements 120-140 tests whether subsystem A works and Statements 170-
180 checks out subsystem B. If both work, a success is counted in Statement
210.

Now it is your turn to use what you have learned in this chapterand write
a program to determine the mean time between failures of the system above.
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7
Geometry and Calculus

In this chapter several of the problem solving approaches from earlier
chapters are used to solve geometric problems. You will find that many prob
lems can be solved in a variety of different ways—by applying a formula, by
trial and error, by successive approximations, and, in some cases, by common
sense. Perhaps the most important thing to learn from these problems and
programs is how to analyze a problem to reach the solution quickly and
painlessly.

99



Crossed and Slipping Ladders

Here is a simple problem of a slipping ladder. A ladder 25 feet long is
placed so its foot is 7 feet from the base of a building. The base of the ladder
slipped on some loose gravel so that the top is 4 feet lower than where it was
to start. How far did the foot of the ladder slip?

(X-*)

The diagrams show the two positions of the ladder. By the Pythagorean
theorem we know that a2 + b2 = c2, hence, the equations needed to solve the
problem are:

x = V252 - 72

y = v/252 - (x-4)2
and the amount of slippage of the base is z = y - 7. These three equations are
put into a computer program which quickly calculates an answer of 8 feet.

While the aritmetic in the above problem is not particularly messy, it is still
no great joy to solve by hand. However, the computer is just as happy to do
the problem with really messy dimensions, say a ladder length of 27.83 feet
and a distance from the wall of 7.62 feet.

10 PRINT "SLIPPING LADDER"
20 C = 25
30 B*7
4 0 X = S Q R < C* 2 -B*2)
5 0 Y = S Q R < C: -* 2 - < X - 4 ') A 2 >
6 0 2 = V-B
70 PRINT "BASE SLIPPED"SZS
EET"

>RUN
SLIPPING LADDER
BRSE SLIPPED 8 FEET

* * D D N E * *
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>20 0=27.83
>30 B=7.62

>RUN
SLIPPING LADDER
BASE SLIPPED 8.386131551
FEET

** DONE **

Let's consider an old problem found in many classic collections. Two lad
ders, one 25 feet long and the other 35 feet long lean against buildings on op
posite sides of an alley as shown below. The point at which the ladders cross
is 12 feet above the ground. How wide is the alley?

By using similar triangles twice we find that
12/a + 12/b = 1

Then, by applying the Pythagorean theorem and reducing, we obtain:
a2 - b2 = 600

Using one of the methods described in the Problem Solving chapter, you
can solve these two simultaneous equations. Or they can be combined into
one equation in which z, the width of the alley is

z = V352 - a2
By eliminating b, the following fouth degree equation is obtained

a4 - 24a3 - 600a2 + 14400a - 86400 = 0

Again, this can be solved using one of the methods in the chapter on Prob
lem Solving. This is the traditional approach, but there is another. The solu
tion is the intersection of the curves described by the two original equations.
By using successive approximations, say in steps of 1 for a, you could solve
for b1 and b2 in the following restated original equations
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b2 = t/600 - a2

When b, falls below b2, reduce the step to 0.1 to obtain acloser approxima
tion. By continuing this method ofsuccessive approximations, it is possible to
obtain a very accurate solution.

Is there another approach? Yes, there is and italso avoids the quartic equa
tion. It uses the original equations in a trial and error procedure as described
in the chapter on Sets and Repetitive Trials. See if you can write a program
using this approach.

Here is another classic problem for you to solve in any way that you like.
What is the longest ladder that can be carried in ahorizontal position around
thecorner made where a 12-foot wide alley meets one that is 8 feet wide. The
diagram shows the problem.
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Distance Between Coordinate Points

This program solves for the distance between any two points in three-
dimensional space defined by their x, y, and z coordinates.

The formula for the distance between two points in three-dimensional
space is:

d = (x, - x,r + (y2 - y,)2 + (z, - zx?

It would be desirable for the program to be able to solve any problem of
this kind. One approach would be to use input statements to accept the point
coordinates. Another is to use a data statement to define the points. Then
only this one statement has to be changed for a new problem or set of
problems.

The program is written to calculate the distance between three sets of
points. The points used were:

0, 0, 0 and 3, 4, 5

3.5,-4.7,6.2 and -0.9,3.0,4.4

67, 36, 82 and 54, 25, 90

This calculation is used extensively in aerospace navigation. Can you deter
mine the angle or "compass heading" of the resulting flight path? Better start
with just two dimensions.
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19,?§IftT "FRQGR
D I STANCE " : " FET

N THREE-":"DIME

RM CALCULATES
WEEN POINTS I
NSIDNRL SPRCE

2 0 p
3 0 P
TRNC

R INT
RINT
£ r. . r,

ERD
fSQR

RINT
RINT
R INT
DTD
DRTR
DATA

CD
PD

DRD

C , D
IO * :

C
f;

INT"
INRTES D I S

4 0
50
F>
6 0
7 0
SO
9 0
100
1 10
4 . 4
120

>
>

> R U N
PROS
BETW
DIME

i-

B
fl-

Ev F
:+ < B - E ) ~ 2 + < C -

R
D

40
O:

B
E TAB(16)5L

3,4,5
• ^?6«2?~"«9?3,

, 0,
>-4

DRTfl 67,36,8 2,54,25,90

ROM Cfl L C
EEN PDIN
N S I D N A L

ULRTES DISTRNCE
TS IN THREE-
SPACE

POINT
COORD INATES DISTANCE

7.071067812

9.049309366

18.81488772

0
3

3. 5
-. 9

67
54

0
4

0
5

-4
3

3 6
2 5

7 6.2
4. 4

82
9 0

* DflTfl ERROR IN 40
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Area—by Calculation

It is a simple matter to calculate the area of regular geometric figures by
using the usual formulae. However, the problem becomes more difficult when
it is necessary to calculate the area of two combined regular shapes or the
area of irregular shapes. This program shows the method of analysis for solv
ing a problem of the first type, while the next program demonstrates four
methods of dealing with irregular areas.

The problem is to solve for the shaded area of the figure below for any
value of the radius, R.

The first step is to recall the formulae for calculating the area of a circle
and square:

A (circle) = pi * R2
A (square) = Side2 or (2 * R)2

The difference in area between a square and a circle inscribed within its
borders is:

A (difference) = A (square) - A (circle)
and the area of one corner is the difference divided by 4. The program below
will calculate the area for any radius.

Now it is your turn. Write a program to calculate the difference in area
between a circle andsquare in which the square is inscribed within the circle.
Now, change your program to calculate the difference in area for a triangle, a
hexagon and an octagon inscribed within a circle.

10 PRINT "PROGRAM
AREA'1 : "BETWEEN A

CRIBED WITHIN A

CfiLCU
CIRCL
SQUAT

INPUT "RADIUS ="8R
C = 3. 14159*R'N2
§s(2«R)A2
*S-C
1=0/4
RINT TRAPPED AREA

PRINT "ONE CORNER ="5 D1
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>RUM

BfJHfBVsSJBEfe* insc^bed
RADIUS =10
TRRPPED RRER • 85.841
• NE CORNER = 21.46025

** DONE **

>RUN

?§95i&!1 Sftk5ytflJE? AREA
SfTHflVeSiRife* Scribed
RADIUS =3.14159
TRAPPED BREfl - _. _, . _
ONE CORNER = 2.1 1^038

** DONE **

IEPPESILRREA - 8.472132802

Extend your program tocalculate the difference in area for any regular fig
ure inscribed within a circle of radius 1.0. Set up a table or results as follows:

Number of sides Difference in Area
3

4

5

6

7

8

What can you conclude from these results? Do these areas follow in some
sort of progression?
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Area—by Integration

In many cases it is necessary to determine the area of an irregular figure or
the area under a curve where an exact formula is not available. The approach
most commonly used is to divide up the enclosed area into small regularly
shaped pieces and sum up the areas of all of these pieces.

The easiest shape to use in these calculations is a rectangle. A group of
rectangles can either be inscribed within the irregular figure or curve, or
circumscribed around it. The first two diagrams show these two methods be
ing used to find the area under a curve. A third method is to use trapezoids
which, depending upon the direction of curvature, will either be inscribed or
circumscribed automatically.

Inscribed

Rectangle

Circumscribed

Rectangle
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A fourth method, known as Simpson's Rule, essentially fits a series of
parabolas between the points of the curve and calculates the average area. It
requires that the area be divided into an even number of parallel slits. Let us
call the total number of divisions 2m which are h distance apart. The point on
the curve where the first line intersects is yo, the second yi, and so on until
y2m- The area is then given by the formula:

A= l/sh[(yo + y2m) + 4<y, + y3 + ...
+ V2m-l) + 2(V2+ y4 + ... V2m-2)]

The area as calculated by Simpson's Rule converges extremely quickly
compared to the other methods. Nevertheless, as the number of intervals in
creases, all the methods approach the same limit. As might be expected, the
trapezoidal approach converges more quickly than either of the approaches
using rectangles. Compute the average of the two methods using rectangles.
What do you get? Does this suggest another method?

The methods used in this program involve the calculus. And you thought
the calculus was difficult! Now you know otherwise.

10 PRINT "PROGRAM COMPUTES A
REA UNDER"J"A CURVE BY FOUR
RATION^ »F;;S ,,WUt1ERICRL INTEG
£0 ?SiNt "DEFINE CURVE IN LI
N E 10 0"
gO^PRINT/' INPUT START AND EN
*9s IflFyiV,FnR X ^SMALLER FIR
50 PRINT
I'pPRlNt "NO. INTERVALS" i"IN
SCR RECTS TRAPEZOIDS"«"CIRCUMRRECTS PARABOLAS"
SO M«-2
90 S = 0

l?8 «SG+iNfl<K>-KA3{20 FOg N«M TO M+2
JS9 S=o
150 P = 0
16 0 D =« 2 •*• N
170 H-<B-fl)'D
ISO FDR 1=0 TD D-l

l°9 P=P+H*FNAOO
m ais?HfFMfl<x+H>
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T = <P + Q>'"2
U«FNfl<fi>+FNfl£Bi __„ .,
FOR J=2 TO «D-2)STEP 2

i U=U+2*FNfl<fl+J*H>
! NEXT J

' FOR K=l TO <B-1>STEP 2
v = v + 4*fna<r+k*h:>

1s?s+5>»<h/3> .
I PRINT D s P > T : Q > S

!?PXS<2-» THEN 110 _ ,,, s
i IF ABSCCC-S>/<<C+S>^2)>>
101 THEN 110
i END

>RU
PROGRAM COMPUTE
A CURVE BY FOUR
NUMERICAL INTE6

DEFINE CURVE IN
INPUT START,AND
FOR Y. CSHflLLER

NO. INTERVALS
[NSCR RECTS
CIRClJN RECTS

S AREA UNDER
METHODS OF

RATION

LINE 100
END VALUES

F1RST5 = 1, 10

TRAPEZOIDS
PARABOLAS

2
753. 1875,,
5248.6875
4
1501. 171875
374S.921375

1969. 136719
3093.011719
16
2226.612305
2788.5493 0 5
3 **
236 1.223389
2642. 192139

2429.997253
2570.481628

** DONE **

3000.9375
2499.75

2625.046875
2 4 99.7 5

2531.074219
2499.75

2507.58 1055
2499.75

250 1
2499

707764
75

2500.239441
2 4 99.75

109



J* ^ -7
^ \\ \

/<%
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jsHy

"According tothe computersimulation, itshould hit the earth in 0.00298 seconds.
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8
Science

Using techniques and approaches presented in the previous chapters, this
chapter contains five programs in the area of science. One uses a formula to
solve simple gas problems, two are drill exercises on the gas laws of Boyle and
Charles, and the last two are simulations. You will see that the simulations
draw upon many previous techniques such as progressions and repetitive
calculations.
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Gas Volume

Here is a simple program to produce a not-so-simple table of values for gas
volumes.

The volume of a gas varies directly with the absolute temperature T (Kel
vin) and inversely with the pressure P. If a certain quantity of gas occupies
500 cubic feet at a pressure of 53 pounds per square foot and an absolute tem
perature of 500 degrees, what volume will it occupy at 600 degrees absolute
temperature and pressures from 100 to 1000 pounds per square foot in in
crements of 50 pounds?

The original conditions are used to solve for the constant K in Statement
40 (K = V*P/T). Then new volumes are computed for varying pressures
with T equal to 600 degrees. The formula used is V = K*T/P.

In the second part of the program, Lines 70 to 100 are replaced to produce
a plot of the gas volume for the various pressures.

How would you modify the program to deal with a more general case (i.e.,
other gasses and different temperatures)? Second, can you write a program
that produces a table of values for a gas at different pressures and
temperatures?

10 V = 5 0 0
20 P = 53
3 0 T = 5 0 0
4 0 K = V* P•T
5 0 PRINT "PROGRAM COMPUTES G
BS VOLUMES"s"flT DIFFERENT PPENSURES" S " " «*rrci\cni r rs
60 INPUT "TEMPERATURE CIO ="
7 0 PRINT •' " i"PRESSURE" , "VOL

18 v=k*t!J-p° td 100° step 50
100 print'P>V
110 NEXT P

> R U N
PR06RRM COMPUTES GAS VOLUMES
AT DIFFERENT PRESSURES

TEMPERATURE (K) =300

PRESSURE VOLUME
10 0 3 18
150 2 12
2 0 0 15 9
2 5 0 127.2
3 0 0 10 6
35 0 9 0.85714286
4 0 0 7 9.5
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4 50
5 00
5 50

6 50
700
7 50
8 00
8 50
9 00
9 50
10 00

** DONE * *

70,
6 3
57
5 3
48
45
4 2
3 9
37

33
3 1

66 6666 67
6
8181S182

92307692
42857143
4

4 117 6 4 71
33333333
47368421
8

J820
30
40
50
as

f?
70

80
90
100

110

V-3
P = 5
T = g
K • V
PRI
VOL
URE
IHP

PRI
VOL
FDR

PR
s • ••

00
3
00
*P
NT
UM
S "
UT

NT
UM
P

*T
IN
* "

XT

"PROGRAM COMPUTES G
ES":"AT DIFFERENT PR
o fl II

' "TEMPERATURE
1

NE

"PRES
E"
= 100
l.''P
T P/'lQOl TRB<4 + INT<V*

(. K > = "

100 PLOT

TD 1000 STEP 50

>RU
DGR
DI

TEMPERATURE

PROGRAM
AT DIFF

COMPUTES GAS VOLUMES
ERENT PRESSURES

PRES^lOO
1

51
2
2.
3
3.
4
4.
5
5.
6
6.
7
7.
3
8.
9
9.
10

*

*

*

*

*

*

#

*

< k y - 6 0 0

PLOT OF

*

*

*
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Charles' Law Drill

In the previous program, gas volumes were calculated using Charles' Law
and Boyle's Law. Here isadrill and practice program (remember Chapter 1?)
that produces problems relating the volume and temperature of a gas. When
pressure is constant, the volume/temperature relationships can be stated as
follows:

Vo = Vj_
To T,

The program presents four problems, one to solve for each of the four vari
ables in the equation above.

How can you make the program more efficient? More interesting?

10 RANDOMIZE
20wPRINT "DRILL ON CHARLES'
30 'PRINT "VOLUMES IN MILLILI
J^jf"! I,'TEMPERATURES IN DEGRE
4 0 V = I N T < F: N D * 5 0 + 5 0 >* 1 0 0
50 V1=INT<RND*50+50>*100
60 T=INT<RND*125+125>
70 T1=INT<RND*125+125>
a o c = c + l
90 ON C GOTO 100,140,180,220
v ^ 6 0

ill s?^i*t?tV'e fdr v when"
130 GOTO 270

118 U-IUt'W*1 is V1 giveh"
nl°0FRf»T "C,:,LclJI-flTE THE VHL
200 Q1«V*T1-'V1
210 GOTO 270
220 T1=0
230 PRINT "SOLVE FOR Tl GIVE

240 Q1=T*V1/'V
£50 GOTO 270
XbO STOP
270 PRINT " V VI T

???,?llj!?M!J?E<7:"vl,TnB<14
3 10 PRINT
320 GOTO 40
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> R U N
DRILL ON CHARLES LAW

VOLU
TEMP

SDLV
V
0

YOUR
CORR

WHAT
V
68 0

Y OUR
CORR

CALC
V
68 0

YOUR
CORP.

SDLV
V
860

YDUR
CORR

MES
ERAT

E FO
V
9

ANS
ECT

IS
V

0 0
ANS

ECT

ULAT

0 8
ANS

ECT

E FO
V

0 6
ANS

ECT

IN M
URES

R V
1
800
I.-J E R
V ALU

VI G
1

WER
VALU

ILLILITRES
IN DEGREES K

WHEN
T
169

= 6600
E = 6900

IVEN

152
= 6500
E = 653 1

Tl
240

833333

Tl
146

57394'

E THE VALUE
1 T
900 0
IJER =16 1
VALUE = 158

OF T
Tl
208

9213483

R Tl
1
300
WER
VALU

GIVEN

248
= 2 0 0
E = 196

S1
0930233

* * DONE * *
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Boyle's Law Drill

Boyle's Law describes the behavior of gases under ideal conditions when
pressure and volume are varied. When the temperature is constant, Boyle
found that:

P0 * V0 = Pi * V!
Pressure is normally measured in centimeters of mercury while volume is

measured in millilitres. As with the drill on Charles' Law, this program
presents four problems, one to solve for each of the four variables in the equa
tion above.

Unlike many other drill and practice programs, these two do not compare
your answer with the correct one. Instead, they leave that up to you to do. Is
this desirable? Why or why not? If you feel it is undesirable, change the pro
grams so they do compare answers and calculate a score.

10 RANDOMIZE
20 PRINT "DRILL ON BOYLE'S L
RW" s " ,r
30 PRINT "VOLUMES IN MILLILI
TRES"s "PRESSURES IN CM OF ME
R C U P Y H • " "

40 V = INT<.RND*50 + 50>*100
50 V1«INTCRND*30+50)«100
60 P=INT<RND*150+150?
70 P1=INTCRND*150+150>
8 0 C=C+1
90 ON C GOTQ 100,140,130,220
, 260
100 V=0
110 PRINT "SOLVE FDR V WHEN"
120 01=P1*V1/P
130 GOTO 270
140 V1=0
150 PRINT "WHAT IS VI GIVEN"
160 01=P*V^P1
170 GOTO 270
180 P=0
190 PRINT "CALCULATE THE VAL

200 Q1=P1*V1/"V
210 GOTO 270
220 P1=0
230 PRINT "SOLVE FDR Tl GIVE

240 Q1-P4W1
250 GOTO 270
260 STOP
270 PRINT " V VI P

280 PRINT V; TAB<7> ! VI J TAB-: 14
UP; TAB<21 >5 PI
??2 IHPU.I "VOUR ANSWER ="!0
3U0 PRINT "CORRECT VALUE =";
Wl
•3 10 PRINT
J20 GOTO 40
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>RUN
DRILL ON BOYLE'S LAW

UMES
SSUR

VE F

VOL
PRE

SOL
V
0

Y 0 U
COR

WHA
V
94

YDU
CDR

CAL
V
88

YOU
COR

SDL
V
63

YOU
i.: 0 R

IN MIL
ES IN C

LILITRES
M DF MERCURY

OR
VI
7400
SWER =7
VALUE

V WHEN
P
251
350
= 7341

PI
249

03 5 857
R AN
RECT

T IS

00
R AN
RECT

CULA

00
R AN
RECT

VE F

00
R AN
RECT

VI G I V
VI
0
SUER =1
VALUE

TE THE
VI
6700
SUER =1
VALUE

OR T1 G
VI
9700
SUER =1
VALUE

** DONE **

EN
P PI
232 215
0060
= 10143.25581

VALUE
P
0
44
= 146

IVEN
P
265
70
= 172

OF T
PI
193

9431318

PI
0

1 134021
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Photoelectric Emissions

When light of a short wavelength falls on a metal surface, electrons are
emitted from the metal. According to the description of this phenomenon by
Einstein, there is a maximum wavelength for every metal above which no
electrons are emitted. This is called the critical wavelength of the metal.

This program simulates a laboratory experiment in which a metal is placed
in a vacuum and bombarded with soft X-rays. The number of electrons emit
ted is collected and measured with a microammeter. The program simulates
three trials at each of nine wave lenghts.

After each set of experimental data, the program asks if you would like an
other run at a higher light intensity. The reason for doing this is that some
times at low light intensities, not enough electrons have been emitted for
meaningful measurements.

You can increase the precision of the experiment by increasing the number
of wavelengths at which it is run. This value can be changed in Statement 60;
note that the variable L is divided into 1000 in order to express the wave
length in Angstroms. One Angstrom (A) equals 10~8 centimeters or 10*4
microns.

Here are the coefficients for several metals:

Silver .308

Bismuth .338

Cadmium .318

Lead .340

Platinum .385

It is a rare physics laboratory in a high school or college today that has the
experimental apparatus to run this experiment, yet with a small computer the
equipment can be simulated. There are many other things with which you
would not normally be able to experiment that can be simulated with a com
puter. Things such as a nuclear power plant, a malaria epidemic, an urban
mass transit system, and a bicycle factory.

Can you write a simulation for a real world system? You will find sections
on simulations in the books Computers in Mathematics and Computers in Sci
ence and Social Studies. These, along with articles in 99'er and Creative
Computing magazines, might be of some help in writing a simulation of your
own.
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10 P
MET A
T X-
20 I

UeE
3M
60
2
70
30
90
100
1 10
120
130
) >
140
50
160
70
80
90
" IN
2 00
210
220
TO

230
240
250
260
27 0

M SIMULATES
ENT WITH SDF

RINT UPR06RA
L",:, "BOMBARDM

NPUT "COEFFICIENT DF MET
ii . y

= INTC1+2*RND >
RINT "DUTPUT
M • II tl

RINT "WAVE
IflL"s"LENG
O in « u ii

0R"l=.42 T

=INT<1000/
RINT M?,„ n
OR J=l TD 3
IF L>V THEN 130
I=SQR< INTC25*RNDr.' >
GOTO 140
I=SQRCK*K*100+INT<35*RND

N=INTC10*
PRINT TAB
NEXT J
PRINT
NEXT L
PRINT " "
TENSITY" :
INPUT AS
IF A1="N
PRINT
1 0 > ' 5
INPUT
K = K*F
PRINT
GOTO
STOP

BY

50

IN MI CRDAMP

TRIAL
1TH

D .25 STEP -.0

L)

+ .
J*

5>/10
7 > J N 5

TRIAL
2

"INCREASE LIGH
<Y OR N>"l

THEN 270
WHAT FACTDR < 1
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>RUN
PROGRAM
BOMBARDMENT

SIMULATES METAL
WITH SOFT X-RAYS

£8J!§thtrJ'"- TR^L TRJ^
2380
2500
26 31
2777
29 41
3125
§333
3571
3846

20.
20.
20.
20.
2. .3

I-1
J-1

20
20
20,
20,
i,;
1
4,
3,
4

4
5
6
4

7
4

38- 3
IS-2
2?54
4. 4
4.6

3. 5

i9cBI"SfTL$,HT
BY WHAT FACTDR

INTENSITY

< 1 TD 105

WAVE TRIAL
LENGTH 1

TRIAL TRIAL

2130 200
2500 200. 1
3631 200. 1
ZZ77 200. 1
2941 4.6
§125 4.4
3333 2. 4
3571 3. 7
3846 3

2 00. 1

200. 1
200. 1
3 . 6
3. 5
3. 3
3. 7
4.5

20 0
20 0
200
2 0 0
2. 2
3. 9
4. 4
2. 4
3. 7

INCREASE LIGHT
CY DR N>? N

** DONE **

INTENSITY

120

10



Mutation of Moths

This program is a simulation of the growth of a colony of pepper moths.
The program allows a genetic mutation to be introduced in some year be
tween 1 and 30. The mutation can favor either dark or light colored moths.

The program as it appears starts with a total colony of light moths; you
could add an initial group of dark colored moths in Statement 35 as PI.

The sample run shows a mutation which favors dark moths occurring in
Year 3. The mutation affects about 2% of the light moths each year and
causes them to become dark. The program displays the number of moths of
each color over a 30-year period.

Obviously, because of the long time period involved it would be difficult to
carry out this experiment in school, so the computer again is of real benefit.

10 PRINT "PROGRAM SIMULATES
MUTATION"s"DF R COLONY OF MO

I8SINPUT "RATE OF MUTATION <
i - i 0 > » " « M
30 P0=10000

50 PRINT MM WHAT YEAR DDES
CHANGE" '. " IN ENVIRONMENT OCCU

60*INPUT X

18 PRtNT "CHANGE FAVOR LIGHT
DR DRRK":"MOTHS < L DR. D>"?

100 INPUT ES
110 PRINT " ":"YEftR DARK MOT
HS LIGHT MOTHS",
120 FOR T=l TD 30
130 IF T> = X THEN 160
140 P1=0
150 GOTO 220
160 IF ESO"D" THEN 140
170 P1=INT<P1+.01*M*P0+.5>
130 P0=INT<Z-Pi+. 5>
190 IF PKZ THEN 220
200 Pl=2
210 P0=0
220 PRINT T5TflB<8>;PI;TRBC19
> 5 PO
230 NEXT T
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'sp°gRgaLgwubr^TS^TflTiDN
IN ENVIRONMENT OCCUR" 3

YEAR DARK MD
1 0
2 0
3 2 00
4 396
5 588
6 776
7 960
y 1141
9 13 18
10 1492
1 1 1662
12 1329
13 1992
1 4 2152
15 2309
16 2463
17 2614
1 8 2762
19 2907
20 3049
21 3 188
22 3324
23 3458
24 3539
25 3717
26 3843
27 3966
28 4087
29 4205
30 4321

IGHT MOTHS
10 0 0 0
10000
9800
9604
9412
9224
9040
8859
8682
8508
8338
8171
8008
7843
7691
7537
7386
7238
7093
6951
6812
6676
6542
641 1
6283
6157
60 3 4
5913
5795
5679

The so-called "killer bees" that were introduced into South America in the
mid 70's were supposed to help honey production because they were much
more energetic than the lazy honey bees in Brazil. The idea was that they
would mate with the existing honey bees and produce a more productive
strain. However, they went on a rampage killing people and terrorizing the
country. Then they started to migrate north. U.S. agricultural officials be
came alarmed that they would invade this country and bring death and
destruction.

Over the years, the killer bees have started to mate with the more docile
South American honey bees, but only at the rate of 3% per year. Assuming
they pose a danger to the U.S. until their numbers are reduced to 15% of
their original quantity, how many years will it take for this to occur? The
present migration patterns will bring them to the U.S. by 1989; will they still
be dangerous (assume that the year of introduction was 1974)?
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Projectile Motion

The path followed by a projectile is called its trajectory. The trajectory is
affected to a large extent by air resistance, which makes an exact analysis of
the motion extremely complex. We shall, however, neglect the effects of air
resistance and assume the motion takes place in empty space.

In the general case of projectile motion, the body (bullet, rocket, mortar,
etc.) is given an initial velocity at some angle 0 above (or below) the
horizontal.

If V0 represents the initial velocity (muzzle velocity), the horizontal and
vertical components are:

Vox =Vocos0, Voy =Vosin0

Since we are neglecting air resistance, the horizontal velocity component
remains constant throughout the motion. At any time, it is:

Vx =VQX =VQ cos0 =constant (1)
The vertical part of the motion is one ofconstant downward acceleration

due to gravity. It is the same as for a body projected straight upward with an
initial velocity VQ sin 0. At a time "t" after thestart, the vertical velocity is:

Vy =Voy-gt =Vosin0-gt (2)

where "g" is the acceleration due to gravity.

^^1

V0 sin 0
\

\
\

\

\
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The horizontal distance is given by:

x =Voxt=(Vocos^t (3)
and the vertical distance by:

y=voyt-i/2gt2
=(Vosin0)t-l/2gt2 (4)

The time for the projectile to return to its initial elevation is found from
Equation (4) by setting y = 0. This gives

2 Vnsin 6
t = (5)

The horizontal distance when the projectile returns to its initial elevation is
called the horizontal range. "R." Introducing the time to reach the point in
Equation (3), we find:

2 V 2sin 0 cos 0
R = —~ (6)

Since 2sin 6 cos 6 = sin 20, Equation 6 becomes:

V 2 sin 20
R = — (7)

g v J
The horizontal range is thus proportional to the square of the initial veloc

ity for a given angle ofelevation. Since the maximum value of sin 26 is 1, the
maximum horizontal range, RmaxisV02/g. But if sin 26 = 1, then 26 = 90°
and 6 = 45°. Hence the maximum horizontal range, in the absence of air
resistance, is attained with angle of elevation of 45°.

From the standpoint of gunnery, what one usually wishes to know is what
the angle ofelevation should be for agiven muzzle velocity v0 in order tohit
a target whose position is known. Assuming the target and gun are at the
same elevation and the target is at a distance R, Equation (7) may be solved
for 6.

6 = 1/2 sin

= 1/2 sin
(8)

Provided R is less than the maximum range, this equation has two solu
tions for values of 6 between 0° and 90°. Either of the angles gives the same
range. Ofcourse, time of flight and maximum height reached are both greater
for the high angle trajectory.
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For example, say the maximum range of our gun is 10,000 yards and the
target is at 5,900 yards:

0 = 1/2 sin
. -j 5,900

10,000

= 1/2 36°

= 18°, or 90°-18° =72°

Try the computer game Gunner which appears below. Use trial and error
to try and destroy the target (see sample run). You get five chances per target.
How many shots did it take to destroy all five targets? Did you ever fail to de
stroy a target in five trials?

From the discussion above, you should realize that 45 degrees of elevation
provides maximum range with values over or under 45° providing less range.

The maximum range of the gun will vary between 20,000 and 60,000 yards
and the burst radius of a shell is 100 yards.

You can also determine the correct firing angle from sine tables, or a slide
rule, a scientific calculator or a computer. You should be able to destroy ev
ery target with just one shot. What happens when the target is very close?
Can you always use whole angles?

Now write a computer program to accept the maximum range of your gun
and the range to the target and then calculate the correct firing angle. You
will have to solve two problems to write such a program:

1. The Basic language does not have an ARCSIN function. However, the
following formula may help.

x = tan"1 (yi^r)
2.You must convert from radians to degrees.
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10 PRINT "YOU ARE COMMANDING
,fl eyr :"crew, hit within 10
8nY§§flSn&:9E THE TARGET"::2Q RANDOMIZE
30 R=INT<40000*RND+20000>
40 PRINT "MAX RANGE";RJ"YDS"
50 Z = 0
60 S1=0|Q T=INT<R*<.1+.8*RND>>
90 GOTO 250
}9g PRIWT.'iMIN = i DEGREE"
110 GOTO 260
120 PRINT "MAX = 8^ DEGREES"
130 GOTD 260
£39 PRINT "DVER BY" ;RBS<T.E>? "
YARDS"
150 GOTO 260
ISO-PRINT "SHDRT 8Y"1flBS<E> I
„/nRUS
170 GOTO 260

PRINT "TARGET DESTROYED!180

190
200
210
220
230
VER

250
DS"
260
B
270
g§0
290
300
310

PRINT S?"ROUNDS USED"!:
SI =S1+S
IF 2=4 THEN 410
Z = Z + 1
PRINT "THE FDRWRRD OBSER

ACTIVITY'""GHTED MDRE E"*""
240 GOTO 70*

PRINT "TARGET AT"ST?"YPlR

INPUT "GUN ELEVATION •"

JE !??9~,Tb.EN 120
IF B<i THEN 100
S = S+1
IF.8*6 THEN 340

___ PRINT TAB<12>?"BOOM!"sTA?<5)5 1BDDM!»:TAB<15>?tfBOOM "
: " BDDM ! " : :
320mPRINT "ENEMY GOT YDU FIR

330 GDTD 450
340 B2=.035*B

118 i:?*fIH<B2>
370 E=INT<>0

lis JU'HS'MB ^iN ieo400 GDTD 140

EB°=»?S1T !:"TaTfiL ROUNDS US
420~IF°S1>18 THEN 450
128 £BiHT"HICE SHOOTING! "
440 GDTD 46 0
450 PRINT "GO BACK TD FT. SI
LLcFDR(=!A''s "REFRESHER TRAIN IN
460 PRINT
470 INPUT "TRY AGAIN <Y,N> "

480 IF ZS="Y" THEN 30
4r9PcEiIIWT "OK- RETURN TD BBS
t CAMP. "
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YDU ARE COMMANDING A GUN ^
CREW. HIT WITHIN 100 YARDS
QF THE TARGET

MAX_RANGE

THE FQRWAR.D
SIGHTED

__ 41167 YDS
TARGET AT 17004 YARDS
GUN ELEVATION =77
DVER BY 776 YARDS-
GUN ELEVATION =78
SHDRT BY 534 YARDS,
GUN ELEVATION =77.6
TARGET DESTROYED!
3 ROUNDS USED

OBSERVER HAS
MORE ENEMY ACTIVITY

TARGET AT 21714,YARDS
GUN ELEVATION =73
DVER BY 1074 YARDS
GUN ELEVATION =74
SHORT BY 140 YARDS
GUN ELEVATION =73.9
TARGET DESTROYED!
3 ROUNDS USED

THE FORWARD OBSERVER HAS _
SIGHTED MORE ENEMY ACTIVITY

TARGET AT 16942 YARDS
SUN ELEVATION =77.6
TARGET DESTROYED!

1 ROUNDS USED

THE FORWARD OBSERVER HAS
SIGHTED MORE ENEMY ACTIVITY

TARGET AT 12531 YARDS
GUN ELEVATION =32
SHDRT BY 1487 YARDS
GUN ELEVATION =81
SHDRT BY 106 YARDS
GUN ELEVATION =30.9
TARGET DESTROYED!
3 RDUNDS USED

THE FORWARD OBSERVER HAS
SIGHTED MORE ENEMY ACTIVITY

TARGET AT 22631 YARDS
GUN ELEVATION =73.1
TARGET DESTROYED!

1 RDUNDS USED

TOTAL ROUNDS USED - 11
NICE SHDDTIMG!

TRY AGAIN (Y.N} N
OK. RETURN TO BASE CAMP,

* * DDHE **
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"I've just programmed our computer to give surprisebirthday parties.
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9
Potpourri

Here are five programs that didn't seem to fit anywhere else. The first and
the last are games, although you may come to think of the lunar landing
simulation as a game also. One is a nifty simulation of smog, and the other
calculates depreciation by three different methods.
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Number Guessing Game

Here is a computer program that plays the popular numberguessing game.
In it the computer picks a secret number between 1and 100. You attempt to
guess that number in as few tries as possible.

There are many ways to go about guessing the secret number. Let some of
your friends play this game and seewhat approaches they use to find the se
cret number. One approach is to start with a guessof 10. If this is too low, in
crease each guess by 10 until the computer says that a guess is too high.
When this point is reached, start from the previous guess and increase each
guess by 1. This is the method used to solve some of the problems in the chap
ter on convergence.

Another approach is to try to bracket the number between upper andlower
limitsand reduce the limitsby steps until the number is finally found. Two of
the convergence programs used this approach.

Is oneof these the best way? Well, these methods are not bad, particularly
compared to starting with 1 and simply counting to 100 until the solution is
found. But there is a better way. It is known as binary search.

This technique involves dividing the search domain, in this case 1 to 100, in
half, and then in halfagain, and so on until the secret number is found. Play
the game many times using different approaches. In the long run you should
find that the binary search approach is the most efficient.

In Line210, the program contains the statement that "you should not need
more than 7 guesses." Why? If the secret number was between 1 and 128,
what is the maximum number of guesses that would be necessary to find it?
What if the number range were 1 to 130; then what would be the maximum
number of guesses?

Revise the program to choose a secret number between 1and 10,000. Now
the upper limit is 100 times the 1 to 100 game here which requires a maxi
mumof seven guesses to find thesecret number; how many guesses will now
be required?

Can you write a program inwhich the roles of the computer and player are
reversed? In other words, the computer will try to guess your secret number
between 1and some upper limit. Aftereach guess, you enter L for low, H for
high, or C for correct. Can you write this program so the computer can tell if
you are cheating, i.e., giving it inconsistent clues?

130



.0 RA
10 PR
:R E T "
1 0 0 "
S "
0
0
0
0
0
0
0
00
10
20
30
40
SSI
50
60
70
80
90
00
10

PR

N =
C =
IN
IF
IF
P
6
P
G
P

ES
I
P
G
I
P
S
P

N DOM
NT
" IN
"TR
I U
NT

I2E
"I HAVE CHDSEN A SE
TESER BETWEEN 1 AND
V TO GUESS WHAT IT„
ILL GIVE YDU CLUES"

NEED

NT<RND*100>+1
+ 1
UT
N = 6
G>N
INT
TD
INT
TO
INT

"Y
T
T
II

60
II

60

OUR
HEN
HEN
TOD

140
120
LOW"

TOD HIGH"

CORRECT IN"

C>3 THEN 180
INT "YDU WERE
TD 220
C>7 THEN 210

INT "GODD JDB. "
TD 22 0
INT "BUT YDU SHOULDN'T
MORE": "THAN 7 GUESSES.

C ? " G U

LUCKY!"

220
N) "
2 30
24 0
250
260

PRINT "PLAY AGAIN <Y DR

INPUT AS
PRINT
IF AS ="Y "
STDP

THEN 20

RUN
I HAVE CHDSEN A SECRET
INTEGER BETWEEN 1 AND 100
TRY TO
I WILL

GUESS WHAT IT IS,
GIVE YDU CLUES

YDUR GUESS
TDD LDW
YDUR GUESS
TGD LOW
YDUR GUESS
TOO LDW
YDUR GUESS
TDD LDW
YDUR GUESS
CORRECT IN
GD D H JDB.
PLAY AGAIN

* * D D N E * *

= 50

= 75

= 87

= 93

= 97
5 GUESSES

<Y OR N>? N
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Depreciation—Three Methods

This program shows how a piece of capital equipment depreciates accord
ing to three commonly used methods ofdepreciation: straight line, sum of the
year digits, and double declining.

The program asks for the original cost ofthe item, its expected life in years
(the period oftime over which it is to be depreciated), and its expected scrap
(or sale) value at the end of that time. A table showing the annual depreci
ation for each of the three methods is then displayed.

10

20
30
S>
40
50
60

s 8
70
80
90
00
10
20
30

;49§0
60

:,70
.80
190
200
210
220
230
240
250
26 0
270
280
290
300
310
32 0
330
340
350
360

PRINT
PRE-"
DDS" :
INPUT
INPUT
-» : L
INPUT
PRINT
PRINT "
DUBLE":"
ECLINING
V = c - s
Dl^VVL
Y=,< CL+t •>

FDR X=l
D2=V*(Z

D3 = 2*C/L
C = C - D 3
PRINT X
Q = D1
GDSUB
PRINT
Q = D2
GDSUB
Q = D3
PRINT

Q=INTCQ*100+

gII8£N0!

"PROGRAM
" C I A T I D N

CALCULATES
BY THREE M

ORIGINAL COST =»:C
LIFE OF ITEM CYEAR

SCRAP VALUE ="sS

STRAIGHT
YEAR LINE

• 2>*L

TO
Y>

TAB<4>

280
TABC12>

280

280

SUM DF
DIGIT

5>/100
THEN 310

33 0
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PROGRAM CALCULATES DEPRE
CIATIDN BY THREE METHDDS

ORIGINAL CDST
LIFE DF ITEM <
SCRAP VALUE =5

= 8000
, YEARS)
500

= 8

STRAIGHT SUM DF DDUBLE
YEAR LINE DIGITS DECLINING

1
2
3
4
5
6
7
3

937
937
937
937
937
93?
937
937

5
5
5
5
5
5
5
5

* * DONE * *

i TMMk:
^1

1666
1458
1250
1041
833
625
416.
208

67
33

67
33

67
3 3
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150 0
1 125
843
632
474
3 55
2 66

75
81
61
96
97
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Smog Simulation

This program is an adaptation of the smog model originally written by
Herbert Peckham. The model assumes that vehicular traffic is the sole pro
ducer of smog, a somewhat poor assumption. It also assumes that most auto
mobile traffic occursduring the daylighthours and that traffic volume is very
low (actually, zero) at night. The smog generated by the cars is dissipated by
atmospheric conditions which vary depending upon sunlight, temperature,
and weather. All of these conditions may be specified by the user.

The model could be improved significantly by taking into account other
sources of smog, by varying vehicular traffic according to the hour of the day,
and by allowing daily variation of weather factors. Nevertheless, even in this
rudimentary form it is interesting and instructive.

A plot of the smog level is produced in Statement 370. Under some con
ditions, the smog level reaches a value that cannot be plotted because it is
greater than the width of the screen (and printer). For runs with conditions
like this, you might want to delete the plotting routine. A more elegant solu
tion would be to estimate the maximum value of the smog level from the in
put factors and calculate an appropriate plotting multiplication factor.
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10
ON
20
3 0
AD

PRINT "SMOG CITY SSMULATI

PRINT "CITY C
MILE":"LOS ANGE

DETRDIT 10
25" s "SMDG

40 INPUT C

is mm « smog54"^?|TANT»:;i950o
.010": "SMDG

N P U T LI

RINT "DAYTIME
RATE IN PER

fiRS PER RD
LES 200"
0":"TULSA
CITY "5

70 I
80 P
90 P
DDWN
DUR"
100
• II

CITY
110
120
130
EAKD
140
• It

CITY
150
160
170
% PE
180
N 1

O.
II •

190
200
EL

2Ap.
22 0
230
240
0
250
260
270
28 0

3 00
310
320
33 0
0
34 0
350
36 0
37 0
38 0
390
400

GENERATID
AUTD .00
01"!"BUS
CITY "5

PRINT '
CLDUDY

CLEAR
. 01

SMDG BREAK
CENT PER H

02 "
SMDG

INPUT Rl
PRINT
PRINT "NIGHTTI
DWN" : "RATE <.>.
PRINT " HOT ^
CDOL .10
II •

INPUT R2

Print "smdg dispersion <
PRINTR»HI6H UI
.00":"NO WIND
01":"SMDG CITY

ME SMDG BR
PER HOURV

0 5 il
":" SMD6

ND AND RAI
AND DRY

INPUT R 3
PRINT " " :"HDUR SMDG LEV

PLDT"
R = R1

T*l =INT<<T-6)£l
IF T1^2=INTCT1

K1 = 0
R = R2
S=S+K1*C*10-R*
IF S>0 THEN 29
T = T + 1
T3=INT<T^12)
T2=T-T3*12+1
X = INT i1000*8+.
IF T3/2=INT<T3

•2>THEN 27

S-R3*S
0

5 J^1000
•25THEN 39

T A B < 7 > 5 X I
70

PRINT T2;"PM"5
IF X<14 THEN 3
X=14
PRINT TRB<13+X
GDTD 210

\ m II j£. It

PF>iNT~T2 5 "AM"? TAB<7> S X %
GDTD 37 0
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> R U N
SMDG CITY SIMULATION

CITY CARS
LOS ANGELES
DETROIT
TULSA
SMDG CITY

PER ROAD
200
100
2 5

? 100

MILE

iQc, SMDGGENERATIDN
19 5 U AUTD .005
1975 AUTD .001
BUS .010
SMDG CITY ? .00 1

?8vp"4BiE8¥DMRSBG8DUN RfiTE
CLEAR .02
CLOUDY lot
SMDG CITY? .01

R4Rr¥BT!{MMMfl8u85EnKDnUN
HDT .05
CDDL . 10
SMDG CITY? 10

CONSTANT

SMDG DISPERSION <V
HASHTl!JJlNS^Pfi RAIN
gHn8rB?T9MD DRY
HDUR SMDG
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Lunar Lander Simulation

This program is one of the most popular computer simulations around. It
is available in many versions; this one is adapted from the original program
written in 1969.

The program represents an exact simulation of an Apollo lunar landing
module during the final descent. This portion of the descent would normally
be controlled by the on-board computer backed up by another computer in
the lunar orbiter, and still another computer on Earth. However, to exercise
your knowledge of physics and to make an interesting game, we will assume
that all three computers have had a simultaneous malfunction. Hence, it is up
to you to land the spacecraft safely.

To make a soft landing, you may change the burn rate of the retro rockets
every ten seconds. You have a choice of not firing at all (burn rate of 0) or of
firing at a fuel rate of between 8 and 200 pounds per second. Engine ignition
occurs at 8 pounds, hence values between 1 and 7 pounds are not possible.
You have 16,500 pounds of fuel. This is 500 pounds more than an actual
LEM has, which will give you a little margin for error. When you get pro
ficient, change Statement 80 to N = 16000 to simulate the real thing more
closely. The capsule weight is 33,000 pounds.

Not that this is the way to come in, but if you did not fire the rockets at all,
the estimated time for a free fall descent is 120 seconds to impact (and a huge
splat).

Good luck!
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10 PRINT "COMPUTER MALFUNCTI
ON! " : "ASSUME MANUAL CDNTRDL9K"i=LlJ.yfiR.CAPSULE. ..»: : DL
I8„PRINT 'CAPSULE WEIGHT 32,
?§8oLEis:?--?vfliLflBLE fl,el **
P,2..pRINT ":
URN RATE":
TD 0 <ZERO>
EN 8 AND 200
40, PRINT ::"
FUEL BURN

5 0
60
70 M=33000
SO N=16500
?0 G=.00 1
100 2=1.8
110 P=INTC3600*V+.5>
J2R IF,fi.£-4 THEN 140
ooo V+,5H1000V

140 IF A<10 THEN 170
150 D=INTCfl+.5>

gOTD 180

mitt i™<**>--
IF K>200 THEN 250
IF K>7 THEN 270
IF K=0 THEN 2 70

PRINT "BAD VALUE--AGAIN

160
170
180
17>
190
200
210
220
230
240
250

fi<=120
V=l

PLEASE .
2b0 GOTO 200
270 T=10

33 0 GQSUB 770
%i9. JE A<"0 THEN 630
350 IF V<=0 THEN 370
360 IF J<0 THEN 690
•i?0 SQSUB 570
380 GDTQ 280

?"SEC" NT "DUT °F FUEL flT" 5L

420 L=L+S
430 W = 3 6 0 0 * V
440 PRINT "• N MOON flT"5INT(L
>5"SECs.IMPACT''"WVELOCITY =»

i|T RETRO ROCKET B
EVERY 10 SECONDS

"OR VALUE BETWE
•"LBS PER SEC":
SEC MILES MPH

> s 1 0 0 0
P ? T A B c

INT •: 10 0*W+ . 5)/100
450
460
470
430
490
• UGH

IF Id.
PRINT
STOP
IF Id >
PRINT
ON " :

2 THEN 480
"PERFECT LRNDING ! "

10 THEN 510
"DODOMPH' THfiT'c; P
-theshoBk absorber

MPH

i00 STDP
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5 1
52
GE
HE
53
5 4
VI
CT
R
55
DE
56
57
58
5 9
60
61
62
63
6 4
) )
65
66
67

ft 8
69
70
2 y
71
7 2

73
74
75
76
77
78
1 /
79
Sh-
sS 0

F
RI
OU
CO
TO
RI
S5
DU
TE
RI

0 I
0 P
. V
LP
0 S
0 P
VOR
, Y
CRA
0 P
EP i.
0 S TO

= L
T

= M
= 1
= J
ET

0 D = V

T>
ft-
f\-
'•/•
RI
I

U>60 THEN 540
NT "SEVERE CRAFT BflMA
'RE" : "STRANDED UNTIL
M E S "
P
NT "SORRY, BUT NO SUR
" : " Y 0 U BLEW IT. IN FA
": "BLASTED A NEW LUNA
R"
NT I NT<W*. 273) 8 "FEET

P
+ S
-S
-S*K

URN
S<.005 THEN 430
+SQR<V*V+2*A*<G-Z*K/M

0 U
0 S
> ) +
0 G

770
570

63 0

*A
UB
UB

D
1-
*V
5
UB
K
UB
J>
V>
D
*K
+ G
. .••

-G
6 +
UR

= 2
• S
OS

C1T
= <
= M
. 0
DS
F
OS
F
F
DT

63 0
M*G-"<Z*K>>."• 2

7
= 0
5

0
0
2 8
• M
*S
5 +
*

Q*
N

70
THEN
0

630

THEN 280
THEN 690
0

3 + Q
0 I
Q*<
0 R

= A
1/
ET

•V/-

COMPUTER MALFUNCTION! M_
ASSUME MANUAL CONTROL DF
LUNAR CAPSULE...

CAPSULE WEIGHT 32
AVAILABLE FUEL 16

SET RETRO ROCKET
EVERY 10 SECONDS
OR VfiLUE BETWEEN
LBS PER SEC

500
500

LBS
LBS

SEC MILES MPH

0
10
20
30
40
50
60

120
1 10
100
90
79
6 9
58

3600
3636
3672
3708
3744
3780
3S16

139

BURN RATE
TO 0 CZERO)
8 AND 200

FUEL

16500
16500
16500
16500
i 6 5 0 0
165 00
16500

BURN

7

6

§
0
0
0
2 00



70
80
90
100
1 10
120
130

48
39
31

10
4.321

DN MDQN AT
VELOCITY -
SDRRY, BUT
YDU BLEW IT
BLASTED A
506 FEET

** DONE **

3447
3051
2624
2660
2454
2238

2013 7530 ? 99
138 SEC! IMPACT
1821.47 MPH.
NO SUR V I V0RS 3
. IN FACT, YOU

NEW LUNAR CRATER

145 00
12500
10 5 0 0
10500

8520

7530

2 00
2 00
0
99
99
99

COMPUTER MALFUNCTION!
ASSUME MANUAL CONTROL
LUNAR CAPSULE...

DF

CAPSULE WEIGHT 32,500 LBS.
AVAILABLE FUEL 16,500 LBS.

SET RETRO ROCKET BURN RATE
EVERY 10 SECONDS TD 0 <ZERD>
OR VALUE BETWEEN 8 AND 200
LBS PER SEC

SEC MILES MPH

120
1 10
100
90
79
69
58
48
37
28
20
13
8. 07
4. 125
1 . 796
. 766
. 378
. 244
. 1 76
. 139
.117
. 091
. 056
.023

• ON AT
£ITY =
MPH! T H
SHOCK ft

0
10
20
30
40
50
60
70
80
9 0
100
1 10
120
130
140
150
16 0
1 7 0
180
190
2 00
210
2 20
2 30

DN M
VELD
DODO
THE

3600
3636
3672
3708
3744
3780
3816
3852
3433
3087
2660
2197

\m
527
212
66

7
12
13

}&•
St'l
BSOR

FUEL

16500
16500
16500
6500
6 5 00
6500
6500
65 00
4500
2500

10500
8500

2500
1500
1000

m
560
460
380
290
190

SEC 5
I1PH.
ROUGH

BERS

BURN

8
1
200
200
200
200
200
200
200
100
50
19

10
8
9
10
10

9

9

9

9

9

9

9

9

9

?
9

9

9

1>
9

9

9

9

*
9

9

9

9

9

IMPACT

ON
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Hammurabi

Hammurabi is one of the all-time favorite computer games. On the one
hand, it may be considered a game, but on the other it is an intriguing simula
tion of barter and management.

Hammurabi is your servant as you try to manage the ancient city-state of
Sumeria. The economy of the city-state revolves around just one thing—the
annual crop of grain (probably soybeans).

Each year, you must determine how many bushels of grain you wish to
feed to your people (you'll quickly discover how much a person needs to sur
vive), how much you wish to use as seed in planting crops for the coming
year, how much you wish to use for the purchase of additional land from
your neighboring city-state, and how much you wish to put in storage.

Of course, if you have a bad harvest or if rats overrun your grain storage
bins, you may have to sell land in orderto get enough grain to keep your peo
ple from starving, or to plant the land for the coming year. Unfortunately,
disasters always seem to strike, forcing you to sell land, when the price is at
an all-time low; but that's not any different from the real world.

Most people start to play this game with nobleambitions. However, before
long, they start longing for a plague to trim their growing population. Or they
deliberately starve some people to keep things in balance (gosh, maybe these
zero population growth people have something, after all!).

Over the years, this gamemore than any other, has spawneda host of look-
alikes, extensions, and modifications. Indeed, several manufacturers have
taken my original with no changes whatsoever, put it in a fancy box, and
charged a handsome price for it. Accept no imitations! Here is the original
game (with the dialog shortened slightly) for you to run on your computer.

If you want to experiment with changes, hereare some suggestions. In the
existing game, plagues randomly occur 15% of the time; lower this to 10% or
5%. People now require a fixed amount of food; vary this amount slightly
from year to year. Permit the construction of a rat-proof grain bin, but this
must cost a fair amount. Introduce a mining industry as well as agriculture.
How about fishing or tourism? Let your imagination run wild. Experiment!
Have fun!
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10 CALL CLEAR
20 PRINT TRBC9
3 0 PRINT "
flHL":s
40 PRINT
Y GOVERN"
OR 10 YRS
50 D1=0
60 P1=0
£9 2 = 0
80 P = 95
?9 S=280Q
log y=30oo
110 E=H-S
120 Y = 3
130 RsHz-Y
140 1=5
150 Q=l
160 B=0
170 PRINT
180 Z = Z+1
190 IF Z=ll THEN 1120
20 0 PRINT
TP REPORT

"HAMMURABI'
BY DAVID H,

TRY TD SUCCESSFUL!-
"ANCIENT SUMERIfi F

HAMMURABI

210 PRINT "YEAR
'"" ~ STARVED" AND8ELE
SB8N
220 P=P+I
230 IF Q>0 THEN
240 P=INT<P>"2>
' 50 PRINT "A HORRIBLE PLAGUE

"HALF THE POPULATI

"POPULATION IS NOW

ACRES

BUSHE

"BUSH

S; "BSHLS IN

I BEG

S D? "PE
"WERE

STRUCK!
•N DIED."
260 PRINT

2WHICHJNT "VDU aWN"
e|MBi»jR£riELMD"i
2f8.p9iBI "RflTS fiTE
300 PRINT "HAVE
,STORAGE. " : :
310 Y=INTC17+RND*10>

I^L^A^E"LflND CDSTS"5
|?°'':aPUT "BUY HDW MfiNY
340 IF GKO THEN 1100
350 IF Y*Q<=S THEN 380
360 GDSUB 1040

GDTD 330

JEflSS0 THEN 430
S=S-Y*Q
C = 0

0
SELL

380
390
400
410
420
430
ES?
440
450
460
470
480
490

GOTO 51
INPUT "
" 8 13
IF GKO
IF GKA
GDSUB 1_
bQTD 430
ft = A-Q
S=S+Y*Q

JHIN
060

260

'; "BU

ACRE

HOW MANY ACR

1 100
480
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500 C=0
510 PRINT
520 INPUT
E D P L E ? " : Q
530 IF G<0 THEN 1100
540 REM 1NDT ENOUGH GRAIN?

BUSHELS TQ FEED P

550
560
570
580
590
6 00
610

IF GK=S THEN
GDSUB 1040
GOTO 5
S = S-Q
C=l
PRINT
INPUT

10

580

RES?" :D
PLANT HOW MANY AC

IF
IF

620
630
640
650
660
670
680
69 0
700
710
720
730
NDUGH"
ROP" "
740
750
760
770
780
790
300
310
820
0
830
340
850
860
870
880

390
9 00
910
E
92 0
930
940
950

D=0 THEN 760
_. D<0 THEN 1100
REM !NDT ENOUGH LAND?
IF D<=A THEN 690
GDSUB 1060
GOTO 610
REM iENDUGH SEED GRAIN?
IF INT(D/2X = S THEN 720
GOSUB 1040
GOTO 610
IF D<10*P THEN 75 0
PRINT "YOU- DO NOT HAVE

PEOPLE TO TEND THE

GOTO 610
S = S-INT<D-'2>
GDSUB 1080
REM IA BOUNTIFUL
Y = C
H = D*Y
E = 0
GDSUB
IF INT

1080
<C2>< >C2

HARVEST

THEN 8!

REM iRATS ARE

GQSUB 1030
REM iLET'S HAVE

GOING WILD

BABIES
I = INT<C*(20*A + S)/-P^ 100 + 1

WELL FED?

OF PLflGU

REM iPEDPLE
C=INT(Q/'20>
REM i15* CHANCE

Q=INT<10*<2*RHD-
IF P<C THEN 160
D = P-C
REM !STARVE ENOUGH

IMPEACHMENT?
960 IF D>.45*P THEN 1010
970 Pl = < <Z-1 >*P1+D*100/'P)>'Z
980 P=C
990 D1=D1+D
1000 GDTD 170
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ISi* PB*NT s:"YOU STARVED";
iBi8pHii¥ B Iue^t-o1 Iffifl1
XTREME^-^MISMANAgMENT,1?^

IMPEACHED
"NATIONAL
260

AVE BEEN
L.ARED THE":
1U30 GDTD 1
1040 PRINT
AGAIN. YDU

BSHLS DF GRAIN
1050 RETURN
lS£P PRINT, "HAMMURABI: THINK
CRES »" DWN DNLY"»RPWB
1070"RETURN

1818 gllE)M5*RNI!'M

AND DEC
FINK."

HAMMURABI: THINK
""HAVE ONLY"ill "

s. GET
EUARD.
1110 GDTD
1120 PRINT
S THAT IN
ARVED"JDls
NT< 100*P1 >^iOO; "•/.• PER"YEAR !

1145 PRINT
10 ACRES"

NDED WITH"

YOURSELF ANOTHER ST

,oWRMtty??SI REPDRT
10" : "YEARS, YDU ST
"PEOPLE._THATyS"Fl

150
160
170
130
190

120 0
1210

IF

IF
IF
IF
IF
PR

PI
L<
PI
L<
PI
L<

INT
„„ WAS
DON'T YDU RUN
DF NEW JERSEY?

1220 GDTD 1260

; I
>3

YDU
PER
NT<1
3, THEN
THEN 1
0 THEN
THEN 1
THEN
THEN

YDUR 10-YR
"FANTASTIC

STARTED
PERSON
0 * L > / i 0

rA220
020

1 230
230
1250
125"

yiTH
AND E

RMANCE

12 30 PRINT
HEAVY HAND."

OUR GUTS"E V
ING BETTER

12 4 0 GDTD 12
125 0 PRINT
WASN'T TDD"
IS ROOM FDR"
12 6 0 PRINT :
L.DN6 FDR NDW
12 70 END

PERFD
WHY

FDR GOVERNOR

YDU RULE WITH A
: "THE PEOPLE HAT
: "AND ARE REBELL.
:"GET DUT QUICK!

_60
"YDUR MANAGEMENT
•"BAD, BUT THERE
" i IMPROVEMENT. "

HAMMURABI: SO
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HAMMURABI
BY DAVID H. AHL

TRY TD SUCCESSFULLY GOVERN
ANCIENT SUMERIA FDR 10 YRS

HAMMURABls I BEG TD REPORT,
YEAR 1 , 0 PEOPLE STARVED
AND 5 WERE BORN.
POPULATION IS NDW 100
YDU DWN 1000 ACRES WHICH
YIELDED 3 BUSHELS PER ACRE.
RATS ATE 200 BUSHELS. YDU
HAVE 2800 BSHLS IN STDRAGE.

LAND CDSTS 22 BUSHELS-' ACRE
BUY HDW MANY ACRES?0„
SELL HDW MANY ACRES? 0

BUSHELS TD FEED PEDPLE?2000

PLANT HDW MANY ACRES?999

HAMMURABI: IBEG TO REPDRT,
YEAR 2 * 0 PEDPLE STARVED
AND 5 WERE BORN.
POPULATION IS NDWlpS u
YDU DUN 1000 ACRES WHICH
YIELDED 2 BUSHELS PER ACRE.
RATS ATE 0 BUSHELS. YDU
HAVE 2299 BSHLS IN STDRAGE.

LAND CDSTS 22 BUSHELS/- ACRE
BUY HDW MANYt ACRES?0„
SELL HDW MANY ACRES? 0

BUSHELS TD FEED PEDPLE?2010

PLANT HDW MANY ACRES?999
HAMMURABI: THINK AGAIN. YOU
HAVE DNLY 289 BSHLS DF GRAIN
PLANT HDW MANY ACRES?577

WBBulR?l& MKet8tMW!t'
BMRn?R»IEi PEBBOE STRUCK!
HALF THE POPULATION DIED.
POPULATION IS NDW54, ,ti
YDU DWN 1000 flpRES WHICH _
YIELDED 2 BUSHELS PER ACRE.
RATS ATE 0 BUSHELS.YDU _,_
HAVE 1155 BSHLS IN STDRAGE.

LAND CDSTS 26 BUSHELS/ACRE
BUY HDW MANY ACRES? C)
SELL HDW MANY ACRES? 50

BUSHELS TD FEED PEDPLE?1080

PLANT HDW MANY ACRES?530
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HAMMURABI: I BEG TD REPDRT,

XiBVufeRg 6686^ STfiRVED
ScHiR?ilLIr1gfip6UE STRUCK!
^CLiS!?!DSDPyL8Sic]^DIED-
JSLBBB I'SuSBIEI ^rcScpe.
RATS ATE 0 BUSHELS. YDU
HAVE 2700 BSHLS IN STORAGE.

LAND CDSTS 25 BUSHELS/ACRE
BUY, HDW MANY ACRES? 0
SELL HDW MANY ACRES? 50

BUSHELS TO FEED PE0PLE7620

PLANT HDW MANY ACRES?309

HBHK^B01911 ! BEG TD REPDRT,

SBGWSBo'ScBi* §S:ch
YIELDED 4 BUSHELS PER ACRE
RATS ATE 0 BUSHELS? YDU
HAVE 4412 BSHLS IN STORAGE.

LAND CDSTS 24 BUSHELS.''ACRE
BUY, HDW MANY ACRES? 0
SELL HDW MANY ACRES? 0

BUSHELS TD FEED PEDPLE?1200

PLANT HOW MANY ACRES'>599

HAMMURABI: I BEG TD REPDRT,

$B8ni!,iFl* iHEh? STflRVED
B«sFSl<&llLl„Elif,SyE STRUCK!

,i.ny DUN 900 ACRES WHICH

«^D^?E57lHSg§^ECIR ?S0E'
HAVE 5180 BSHLS IN STORAGE.

LAND CDSTS 20 BUfiHELS-'firPP
BUY HDW MANY ACRE§? 100 E
BUSHELS TD FEED PEDPLE?720

PLANT HDW MANY ACRES?359

HAMMURABI: I BEG TD REPDRT,

lW,7l&*t SSgR-E STnRVE§
SW,bBi,?Boi*B8BI(.48HicH
YIELDED 4 BUSHELS PER ACRE.
ggTS ATE 0 BUSHELS. YDU
HAVE 3717 BSHLS IN STORAGE.

LAND COSTS 23 BUSHELS.-'ACPF
BUV, HDW MANY ACRES? 0
SELL HDW MANY ACRES? 0
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BUSHELS TD FEED PEDPLE?860

PLANT HDW MANY ACRES?429

HAMMURABI: I BEG TO_g§PflRT,
YEAR 8 /,_Q PEOPLE STARVED
AND 12 WERE BORN. =„
POPULATION IS NDW 55
YDU OWN 1000 ACRES WHICH
YIELDED 4 BUSHELS PER ACRE.
RATS ATE 0 BUSHELS. YDU
HAVE 4359 BSHLS IN STDRAGE.

LAND COSTS 25 BUSHELS/AC RE
BUY HOW MANY, ACRES? Oft
SELL HDW MANY ACRES? 50

BUSHELS TD FEED PEDPLE?1100

PLANT HDW MANY ACRES?549

HAMMURABIs I BEG TQ KEPDRT,
YEAR 9 , 0 PEOPLE STARVED
AND 17 WERE BDRN.
A HDRRIBllE PLAGUE^STRUCK !
HALF THE POPULATION,D1 ED.
POPULATION IS NDW 36
YDU DUN 950 ACRES WHICH ^
YIELDED 1 BUSHELS PER ACRE.
RATS ATE 1.058 BUSHELS. YDU
HAVE 3726 BSHLS IN STDRAGT

H A MTTl IRABis I BEG TO REPDRT,YEAR TS'LQ PEOPLE STARVED
AND 24 WERE BDRN.
POPuTaTIDN IS NDW 60
YDU OWN 950 ACRES WHICH ntm
YIELDED 3 BUSHELS, PER ACRE.
PATS ATE 1413 BUSHELS. YDU
HAVE 2491 BSHLS IN STDRAGE.

LAND COSTS 23 BUSHELS/ACRE
BUY HDW MANY ACRES? 0
SELL HDW MANY ACRES? 0

BUSHELS TD FEED PEDPLE?1200

PLANT HDW MANY ACRES?599

HAMMURABI REPORTS THAT IN 10
YEARS, YDU STARVED 5
PEOPLE,., THAT'S .47

YaUEiTARTED WITH 10 ACRES
PER PERSON AND ENDED WITH
12.6

YDUR 10-YR PERFORMANCE WAS ik,
FANTASTIC. WHY DON'T YOU RUN
FDR GDVERNDR DF NEW JERSEY?

HAMMURABI: SD LONG FDR NDW.
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"Rats! A bacterium justate the new micro-mini computer.'
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References

Magazines referred to in the text include:
• 99'er. This magazine focuses on Texas Instruments home computers exclu
sively. It carries articles and reviews of peripherals, software and other acces
sories. Write for current subscription information:

99'er

Box 5537

Eugene, OR 97405.
• Creative Computing. This is the leading magazine of software and applica
tions for all small computers. It carries articles, tutorials, how-to applications,
and extensive in-depth evaluations.

Books referred to in the text include:

• Computers in Mathematics: A Sourcebook ofIdeas. Hundreds of classroom-
tested ideas for using computers to learn about mathematics.
• Computers in Science and Social Studies. Scores of simulation programs in
biology, ecology, physics and management of real world systems.

All of these books and magazines (except 99'er) are available from Creative
Computing. Write or call for the current price:

Creative Computing
39 E. Hanover Ave.

Morris Plains, NJ 07950

(800)631-8112
In NJ (201) 540-0445
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